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(2) g_mOH$ë¶mU  àemgZ - YmoaUo, emgH$s¶ d AemgH$s¶ g§KQ>Zm§Mo

H$m¶©H«$‘ d godm
1) gm‘m{OH$ Ý¶m¶ d g_mOH$ë¶mU  ImVo -g§ñWm, Am¶moJ
2) emgH$s¶ gm‘m{OH$ YmoaUo
3) amîQ´>r¶ d Am§Vaamï´>r¶ ñVamdarb YmoaUo
4) emgH$s¶ d AemgH$s¶ g§KQ>Zm§Mo H$m¶©H«$‘ d godm
5) àemgH$s¶ H$m‘H$mO d {Z¶‘mdbr
6) àemgH$s¶ gwYmaUm
7) Ý¶m¶m{YH$aU , Am¶moJ d g{‘Ë¶m
8) ñd¶§godr g§ñWm - àH$ma d ì¶dñWmnZ
9) {Zdmgr g§ñWm ì¶dñWmnZ - àemgH$s¶ {Z¶‘ d gw{dYm- dg{VJ¥hm§Mo CÔoe, àemgH$s¶ O~m~Xmar,

Am{W©H$ ~m~r, gmo¶rgw{dYm nwadR>m, n¶©dojU, nmcH$Ëd, {eñVnmbZ

1) gm‘m{OH$ Ý¶m¶ d g_mOH$ë¶mU  ImVo
1) {ejU Am{U Amamo½¶ joÌm§‘Ü¶o ZdrZ A{Ib ^maVr¶ godm ¶mgmR>r {e’$maer H$moUr Ho$ë¶m?

1) àemgH$s¶ gwYmaUm Am¶moJ (1969) 2) gaH$m[a¶m Am¶moJ (1983-88)
3) n§N>r Am¶moJ (2007-2010) 4) darbn¡H$s gd©

1) The new All India Service in the field of Education and Health are recommended by

1) Administrative Reforms Commission (1969)

2) Sarkaria Commission (1983-88)

3) Punchhi Commission (2007-2010)

4) All of the above

2) ^maVmV n{hbr {ejH$ à{ejU emim ...... ¶oWo ñWmnZ Pmbr.
1) goam‘nya 2) nwUo 3) ‘w§~B© 4) ‘Ðmg

2) The first teacher training school in India was set up at

1) Serampur 2) Pune 3) Mumbai 4) Madras

3) ¶mo½¶ H$WZo AmoiIm.
a) A{Ib ^maVr¶ Vm§{ÌH$ {ejU n[afXoMr ñWmnZm H$aÊ¶mgmR>r AICTE H$m¶Xm V¶ma H$aÊ¶mV Ambm.
b) g§nyU© XoemV Vm§{ÌH$ {ejU àUmbrMo ¶mo½¶ {Z¶moOZ d g‘pÝdV {dH$mg H$aÊ¶mÀ¶m CÔoemZo AICTE Mr ñWmnZm

H$aÊ¶mV Ambr.
c) Vm§{ÌH$ {ejUmÀ¶m àgmamÀ¶m g§X^m©V AICTE Mr ̂ y{‘H$m ~KÊ¶mgmR>r amï´>r¶ H$m¶© JQ>mMr ñWmnZm H$aÊ¶mV Ambr.
n¶m©¶r CÎmao …
1) ’$º$ (a), (b) 2) ’$º$ (b), (c) 3) ’$º$ (a), (c) 4) darb gd©
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3) Select the correct statements.

a) AICTE Act was made to provide the establishment of an All India Council for Technical Education.

b) AICTE was established with a view to proper planning and co-ordinated development of technical

education system throughout the country.

c) National working groups was constituted for to look into the role of AICTE in the context of

proliferation of technical education.

Answer Options :

1) Only (a), (b) 2), Only (b), (c) 3) Only (a), (c) 4) All off the above

2) emgH$s¶ gm‘m{OH$ YmoaUo
1) gmd©O{ZH$ YmoaU {Z{‘©Vr
2) bmoH$g§»¶m {df¶H$ YmoaU
3) Am¡Úmo{JH$ YmoaU
4) dmhZ d dmhVyH$ YmoaU
5) nwZd©gZ YmoaU
6) ‘{hbm d ~mcH$m§gmR>rMo amḯ>r¶ YmoaU
7) e¡j{UH$ YmoaU
8) ¶wdH$ YmoaU

1) gmd©O{ZH$ YmoaU {Z{‘©Vr
1) Imcrcn¡H$s H$moUVr {dYmZ/{dYmZo MwH$sMo Amho/AmhoV ?

a) H$m¡eë¶ {dH$mgmdarc n{hco amï´>r¶ YmoaU - 2009
b) amï´>r¶ H$m¡eë¶ {dH$mg ‘hm‘§S>i - 2010
c) {dkmZ Am{U V§ÌkmZ YmoaU - 1958
d) n{hco CÚmoJ YmoaU 1950 ‘Ü¶o A{Ygy{MV
n¶m©¶r CÎmao :
1) ’$º$ b 2) b  Am{U d 3) a  Am{U b 4) darcn¡H$s Zmhr

1) Which of the following statement(s) is/are incorrect ?

a) First National Policy on Skill Development — 2009

b) National Skill Development Corporation — 2010

c) Science and Technology Policy — 1958

d) First Industrial Policy Notified — 1950

Answer options :

1) Only b 2) b and d 3) a and b 4) None of the above

2) ¶mo½¶ OmoS>çm Owidm.
                 (YmoaU)     (df©)
a) ‘mXH$ Ðì¶mdarb amï´>r¶ YmoaU i) 2012

b) nwZñWm©nZm d nwZd©gZ ¶mdarb amï´>r¶ YmoaU ii) 2009

c) AmnÎmr ì¶dñWmnZmdarb amï´>r¶ YmoaU iii) 2006

d) {Xì¶m§J ì¶º$sgmR>r amï´>r¶ YmoaU iv) 2004
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n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (i) (iv) (iii) (ii)

3) (i) (iv) (ii) (iii)

4) (ii) (iv) (iii) (i)

2) Match the following Pairs.

                     (Policy) (Year)

a) National Policy on Narcotics Drugs i) 2012

b) National Policy on Resettlement and Rehabilitation ii) 2009

c) National Policy on Disaster Management iii) 2006

d) National Policy for person with disability iv) 2004

Answer Options :

(a) (b) (c) (d)

1) (ii) (iii) (iv) (i)

2) (i) (iv) (iii) (ii)

3) (i) (iv) (ii) (iii)

4) (ii) (iv) (iii) (i)

3) ^maVr¶ amÁ¶KQ>ZoÀ¶m Mm¡Ï¶m ^mJmV AZwÀN>oX H«$‘m§H$ ............... ‘Ü¶o amÁ¶mÀ¶m YmoaUmg§~§YrÀ¶m ‘mJ©Xe©H$ VÎdm§Mm
g‘mdoe H$aÊ¶mV Amcm Amho.
1) 52 Vo 62 2) 36 Vo 51 3) 79 Vo 88 4) 101 Vo 114

3) Directive Principles of State Policy are included in Part 4 of the Indian Constitution from Article

number .............

1) 52 to 62 3) 36 to 51 3) 79 to 88 4) 101 to 114

4) ^maVr¶ g§{dYmZmV Z‘yX Agcocr amÁ¶mÀ¶m YmoaUmMr Imcrcn¡H$s H$moUVr ‘mJ©Xe©H$ VÎdo Ë¶m§À¶m AZwÀN>oXmer ¶mo½¶nUo
OmoS>cocr AmhoV ?
A) AZwÀN>oX 42 - H$m‘m{R>H$mUr ‘mZdr pñWVr Am{U ‘mV¥Ëd gw{dYm.
~) AZwÀN>oX 43 - Hw${Q>a CÚmoJ {dH${gV H$aUo.
H$) AZwÀN>oX 50 - H$m¶©H$mar ‘§S>imnmgyZ Ý¶m¶‘§S>i {d^º$ R>odUo.
n¶m©¶r CÎmao :
1) A, ~, H$ 2) A, ~ 3) ~, H$ 4) A, H$

4) Which of the following Directive Principles of State Policy mentioned in Indian Constitution are

correctly matched with their Articles ?

a) Article 42 — Right to human condition of work and maternity relief.

b) Article 43 — To develop cottage industries.

c) Article 50 — To separate the Judiciary from the Executive.

Answer options :

1) a, b, c 2) a, b 3) b, c 4) a, c
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5) ''YmoaUH$V} ho Iè¶m AWm©Zo AZwHy$brV ZgVmV Va H$mhrgo g§Vwï> AgVmV'' Ago {dYmZ Aä¶mgH$mZo Ho$bo.
a) nrQ>a S´>H$a b) MoñQ>a ~Zm©S>© c) dwëŚ>mo {dëgZ d) h~©Q>© gm¶‘Z
n¶m©¶r CÎmao …
n¶m©¶r CÎmao …
1) (a) Am{U (b) n¶m©¶ ~amo~a AmhoV. 2) (b) Am{U (c) n¶m©¶ ~amo~a AmhoV.
3) Ho$di (a) hm n¶m©¶ ~amo~a Amho. 4) Ho$di (d) n¶m©¶ ~amo~a Amho.

5) "Policy Makers do not really optimize but rather satisfy" argued by :

a) Peter Drucker b) Chester Barnard

c) Woodrow Wilson d) Herbert Simon

Answer Options :

1) (a) and (b) alternatives are correct 2) (b) and (c) alternatives are correct

3) Only (a) alternative is correct 4) Only (d) alternative is correct

6) Aä¶mgH$ d Ë¶m§Zr Zd cmoH$ ì¶dñWmnZ ¶m g§koH$[aVm Cn¶moJmV AmUcoë¶m g§km ¶m§À¶m ¶mo½¶ OmoS>çm Owidm.
Aä¶mgH$mMo Zmd Cn¶moJmV AmUcoë¶m g§km
a) {¼ñVmo’$a hþS> e) à~§YZdmX
b)c°Z d amogoZãcy‘ f) Zd cmoH$ ì¶dñWmnZ
c) Amog~moZ© d JEãcoa g) CÚmoOH$s¶ qH$dm nwZem}{YV emgZ
d) {¼ñVmo’$a nmocrQ> h) cmoH$àemgZmMm ~mOmamYm[aV Ñ{ï>H$moZ
n¶m©¶r CÎmao :
1) a—f b—h c—g d—e

2) a—g b—f c—h d—e

3) a—h b—e c—g d—f

4) a—e b—f c—h d—g

6) Match the pairs with scholars and they used the terms for New Public Management.

Name of the scholar Terms used

a) Christopher Hood e) Managerialism

b) Lan and Rosenbloom f) New Public Management

c) Osborne and Gaebler g) Entrepreneurial Government or Reinventing Government

d) Christopher Pollitt h) Market based approach to Public Administration

Answer options :

1) a—f b—h c—g d—e

2) a—g b—f c—h d—e

3) a—h b—e c—g d—f

4) a—e b—f c—h d—g

7) gdm©oÎm‘ gmd©O{ZH$ YmoaU {Z{‘©VrMr à{H«$¶m Imcrcà‘mUo AmhoV.
a) AJ«Xeu Am{U ~{haXeu b) Zm{dÝ¶nyU© Am{U cd{MH$
c) nwamì¶mda AmYm[aV Am{U AZŵ dmË‘H$ àH$aUo d) nÕVera ‘yë¶‘mnZ Am{U gVV nwZamdcmoH$Z
n¶m©¶r CÎmao :
1) (a), (b) Am{U (c) 2)  (a), (c) Am{U (d) 3) (a), (b) Am{U (d) 4) (a), (b), (c) Am{U (d)
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7) The process of making the excellent public policy is as follows.

a) Forward looking and visionary b) Innovative and flexible

c. Evidence based and experiential lessons d. Systematic evaluation and continuous review

Answer options :

1) (a), (b) and (c) 2) (a), (c) and (d) 3) (a), (b) and (d) 4) (a), (b), (c) and (d)

8) ^maVmVrb H$m¶©H$mar ‘§S>im‘Ü¶o YmoaU V¶ma H$aÊ¶mV g‘m{dï> Agboë¶m ‘w»¶ g§ñWm AmhoV.
a) H°${~ZoQ> b) n§VàYmZ Am{U Ë¶m§Mo H$m¶m©b¶
c) àñWm{nV g§ñWm d) amï´>r¶ {dH$mg n[afX
e) g{Mdmb¶ - {d^mJ - ‘§Ìmb¶ f) X~md JQ>
n¶m©¶r CÎmao …
1) (a), (b), (e) and (f) 2) (a), (b), (c) and (d) 3) (a), (b), (c) and (e) 4) (c), d), (e) and (f)

8) The main bodies engaged in policy formulation in the executive in India are :

a) Cabinet b) The Prime Minister and his office

c) Established Institutions d) National Development council

e) Secretariat-Department and Ministry f) Pressure Groups

Answer Options :

1) (a), (b), (e) and (f) 2) (a), (b), (c) and (d) 3) (a), (b), (c) and (e) 4) (c), d), (e) and (f)

9) nwT>rcn¡H$s H$moUVo EH$ YmoaU ‘yë¶‘mnZmMo V§Ì Zmhr ?
1) gm‘J«r g§H$cZ 2) àíZ Am{U dmX {ddmX
3) AW©g§H$ënr¶ à{H«$¶m 4) g{‘VrÀ¶m gwZmdÊ¶m Am{U VnmgUr

9) Which of the following is not a technique for policy evaluation ?

1) Collection of data 2) Questions and debates

3) Budgetary process 4) Committee hearings and investigations

10) Imcrcn¡H$s H$moUË¶m {d^mJm A§VJ©V {ZdS>H$ joÌm‘Ü¶o d¡{eîQ>çnyU© H$m‘ H$aÊ¶mgmR>r ‘co{e¶mÀ¶m àemgH$s¶ ì¶dñWoVrc
no ‘m§Sy> H$m¶©nÕVr am~{dÊ¶mV ¶oUma Amho?
n¶m©¶r CÎmao :>
a) emco¶ {ejU d H«$sS>m b) gmd©O{ZH$ Amamo½¶, nmUr nwadR>m Am{U ñdÀN>Vm
c) {dÎm d {Z¶moOZ d) J«m‘rU {dH$mg
n¶m©¶r CÎmao :>
1) (a) Am{U (b) 2) (c) Am{U (d) 3) (b) Am{U (d) 4) (a), (b), (c) Am{U (d)

10) In which of the following departments, to ensure unique development, the Malaysian administrative

scheme 'pay mandu' will be implemented?

Answer Options :

a) School education and sport b) Public Health Water supply and Sanitation

c) Finance and planning d) Rural Development

Answer Options :

1) (a) and (b) 2) (c) and (d) 3) (b) and (d) 4) (a), (b), (c) and (d)
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11) dV©ZdmXr Ñ{ï>H$moZmg§X^m©V Imcrcn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
a) Vo ‘mZdr dV©ZmMm emór¶ Aä¶mg H$aÊ¶mer g§~§{YV Amho.
b) dV©ZdmXr Aä¶mgmMr gwédmV MoñQ>a ~Zm©S>© ¶m Aä¶mgH$mZo Ho$cr Ë¶mZ§Va h~©Q>© gm¶‘ZZo Vr {dH${gV Ho$cr.
c) ¶m g§X^m©Vrc dmL²>‘¶/gm{hË¶ ho dU©ZmË‘H$ Amho, {ZXoemË‘H$ Zmhr
d) hm Ñ{ï>H$moZ AZm¡nMm[aH$ g§~§Y Am[U g§àofU AmH¥$Vr ~§Ymda ^a XoVo.
n¶m©¶r CÎmao :
1) (a), (b) (c) Am{U (d) {dYmZo ¶mo½¶ AmhoV 2) (a), (b), (d) {dYmZo ¶mo½¶ AmhoV
3) (a), (c) Am{U (d) {dYmZo ¶mo½¶ AmhoV 4) (a) Am{U (b){dYmZo ¶mo½¶ AmhoV

11) Which of the following statements are correct about the behavioural approach ?

a) Itis concerned with the scientific study of human behaviour.

b) It was started by Chester Bernard and later developed by Herbert Simon.

c) Its literature is mostly descriptive, not prescriptive

d) It stresses on informal relations and communication patterns

Answer options :

1) (a), (b), (c) and (d) statements are correct 2) (a), (b) and (d) statements are correct

3) (a), (c) and (d) statements are correct 4) (a) and (b) statements are correct

2) bmoH$g§»¶m {df¶H$ YmoaU
1) 2046 n¶ªV pñWa bmoH$g§»¶m gmÜ¶ H$aÊ¶mgmR>r amï´>r¶ bmoH$g§»¶m YmoaUmA§VJ©V gwM{dboë¶m Cnm¶ ¶moOZm§n¡H$s

Imbrbn¡H$s H$moUVo H$maU Zmhr?
1) 1000 OÝ‘m‘mJo A ©̂H$ ‘Ë¶©VoMm Xa 30 n¶ªV Imbr AmUUo.
2) d¡pídH$ bgrH$aU
3) 2,00,000 Or{dV OÝ‘m‘mJo ‘mVm ‘Ë¶©VoMm Xa 100 n¶ªV Imbr AmUUo.
4) XmoZ ‘wbm§n¶ªVMo bhmZ Hw$Qw>§~ R>odÊ¶mMo {Z¶‘ Adb§~{dÊ¶mñVd àmoËgmhZ XoUo.

1) Which is not a measure listed by National Population Policy to achieve a stable population by

2046 ?

1) Reduction of infant mortality rate below 30 per 1000 live births

2) Universal immunisation

3) Reduction of maternal mortality rate to below 100 per 2,00,,000 live birth

4) Incentive to adopt two child small family norms

2) ^maVmÀ¶m 2000 gmbÀ¶m bmoH$g§»¶m {df¶H$ YmoaUmMo XrK©H$mbrZ C{Ôï> H$moUVo?
a) J ©̂{ZamoYH$ Cnm¶m§À¶m {dñVmamgmR>r ñdmñÏ¶ d ‘yb ŷV g§aMZm§Mm {dH$mg H$aUo.
b) gZ 2010 n¶ªV EHy$U àOZZ Xa eyÝ¶mda AmUUo.
c) gZ 2045 n¶ªV pñWa bmoH$g§»¶oÀ¶m CÔoemMr àmár H$aUo.
d) ‘wbtMo {ddmhmMo d¶ 21 df} H$aUo.
n¶m©¶r CÎmao …
1) (a), (b) 2) (c), (d) 3) Ho$di (c) 4) darbn¡H$s gd©
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2) What is the long term objective of India’s Population Policy 2000 ?

a) To develop health and basic structure of it as a remedy for pregnancy prevention.

b) To reduce birth rate to ‘0’ level till 2010.

c) To achieve the objective of stability in population till 2045.

d) To fix the marriage age of girls as 21 years.

Answer options :

1) (a), (b) 2) (c),(d) 3) only (c) 4) All of the above

3) Imbrbn¡H$s H$moUVr {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
a) B. gZ 2000 ‘Ü¶o amï´>r¶ bmoH$g§»¶m YmoaU Omhra H$aÊ¶mV Ambo.
b) B. gZ 2002 ‘Ü¶o amï´>r¶ Amamo½¶ YmoaU Om{ha H$aÊ¶mV Ambo.
c) B. gZ 2002 ‘Ü¶o amï´>r¶ ObYmoaU Omhra H$aÊ¶mV Ambo.
d) B. gZ 2013 ‘Ü¶o AÞ gwajm YmoaU Omhra H$aÊ¶mV Ambo.
n¶m©¶r CÎmao …
1) darb gd© 2) (a), (b) Am{U (d) 3) (a), (c) Am{U (d) 4) ’$º$ (a)

3) Which of the following satements is/are correct ?

a) The National Population Policy was announced in 2000.

b) The National Health Policy was announced in 2002.

c) The National Water Policy was announced in 2012.

d) The Food Security Policy was announced in 2013.

Answer Options :

1) All of the above 2) (a), (b) and (d) 3) (a), (c) and (d) 4) Only (a)

4) Imbrbn¡H$s H$moUVo {dYmZ/{dYmZo MwH$sMo Amho/AmhoV ?
a) ñdmV§Í¶nyd© H$mimV (1939) ‘Ü¶o ^maVmMo bmoH$g§»¶m {df¶H$ YmoaU {ZpíMV H$aÊ¶mgmR>r S>m°. amYmH$‘b ‘wIOu

¶m§À¶m AÜ¶jVoImbr g{‘Vr {Z¶wº$ Ho$br.
b) B. gZ 1949 ‘Ü¶o lr‘Vr YZd§Vr am‘mamd ¶m§À¶m AÜ¶jVoImbr ^maVr¶ Hw$Qw>§~ {Z¶moOZ g§ñWm ñWmnZ H$aÊ¶mV

Ambr.
c) B.gZ 1971 ‘Ü¶o J ©̂nmVmMm H$m¶Xm ‘§Oya H$ê$Z J ©̂nmVmbm H$m¶Xoera ‘mÝ¶Vm XoÊ¶mV Ambr.
d) Hw$Qw>§~ {Z¶moOZ H$m¶©H«$‘mMr Hw$Qw>§~ H$ë¶mU H$m¶©H«$‘ Ago nwZZm©‘H$aU gZ 1977 ‘Ü¶o Ho$bo.
n¶m©¶r CÎmao …
1) ’$º$ (b) 2)  (a) Am{U (b) 3) (b), (c) Am{U (d) 4) darbn¡H$s Zmhr

4) Which of the following statements is/are incorrect ?

a) Appointed a committee under the chairmanship of Dr. Radhakamal Mukharjee to determine

the population policy of India in the pre-independence period (1939).

b) The Indian family planning Institute was established in 1949 under the chairmanship of Mrs.

Dhanwanti Ramarao.

c) The MTP Act was passed in 1971 to legalise Abortion.

d) The family planning program was renamed as Family Welfare Program in 1977.

Answer Options :

1) Only (b) 2) (a) and (b) 3)  (b), (c) and (d) 4) None of the above
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5) 2000 À¶m bmoH$g§»¶m YmoaUm‘Ü¶o 2000 gmR>r amï´>r¶ gm‘m{OH$-OZgm§»¶rH$s¶ C{ÔîQ>ço Imbrbn¡H$s H$moUVr hmoVr?
a) ~mb ‘¥Ë¶yMm Xa Xa hOmar {Od§V OÝ‘boë¶m ~mim‘mJo 30 nojm H$‘r H$aUo.
b) ‘mVm ‘¥Ë¶yMo à‘mU à{V 100000 {Od§V OÝ‘m‘mJo 100 À¶m Imbr AmUUo.
c) ‘wbtÀ¶m C{eam b¾ H$aÊ¶mbm àmoËgmhZ XoUo, d¶mÀ¶m 18 nojm AmYr Zmhr, àmYmÝ¶mZo 20 dfm©Z§Va H$aUo.
d) OZVobm Ë¶m§Mo A{YH$ma {‘idyZ XoUo.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) (a) Am{U (b) 3) (b) Am{U (c) 4) darbn¡H$s gd©

5) Which of the following were the national socio-demographic objectives for 2010 in the population

policy of 2000 ?

a) To reduce infant Mortality rate to below 30 per 1000 live births.

b) To Reduce Maternal Mortality ratio to below 100 per 100000 live births.

c) To promote delayed marrige for girls, not earlier than age 18 and perferably after 20 years of age.

Answer Options :

1) Only (a) 2) (a) and (b) 3) (b) and (c) 4) All of the above

6) ^maVmÀ¶m amï´>r¶ Amamo½¶ YmoaUmV  ...........  , ............. Am{U ............ ¶m Cnm¶m§da ^a XoÊ¶mV Amcm Amho.
1) à{V~§YmË‘H$, ñnYm©Ë‘H$, nwZd©gZmË‘H$
2) nwZd©gZmË‘H$, g§ajUmË‘H$, ñnYm©Ë‘H$
3) à{V~§YmË‘H$, g§dY©ZmË‘H$, nwZd©gZmË‘H$
4) CnMmamË‘H$, g§ajUmË‘H$, g§dY©ZmË‘H

6) National Health Policy of India emphasises on ..............  , ...............  and  .............. remedies.

1)  Preventative, Competitive, Rehabilitative

2)  Rehabilitative, Protective, Competitive

3)  Preventative, Conservative, Rehabilitative

4)  Curative, Protective, Conservative

7) amï´>r¶ cmoH$g§»¶m YmoaU, 2000 ‘Ü¶o Imcrcn¡H$s H$moUË¶m C{Ôï>m§Mm g‘mdoe Amho ?
a)$ór- «̂yUhË`m à{V~§YH$ H$m¶ÚmMr A§‘c~OmdUr H$aUo.
b)$~mc{ddmh à{V~§YH$ H$m¶ÚmMr H$S>H$ A§‘c~OmdUr H$aUo.
c)$N>moQ>çm Hw$Qw>§~mMr g§H$ënZm am~{dUo.
d)$IoS>çmÀ¶m nmVirda ~mi§VnUmÀ¶m godm CncãY H$éZ XoUo.
n¶m©¶r CÎmao …
1) (a)$Am{U (b)$ 2) (b)$Am{U (c)$ 3) (b), (c)$Am{U (d)$ 4) gd© n¶m©¶ ~amo~a AmhoV

7) Which of the following objectives are included in the National Population Policy, 2000 ?

a) Enforcing Pemale Foeticide Prevention Law.

b) Strict enforcement of Child Marriage Prevention Law.

c) Implementing the concept of small family.

d) To provide maternity services at the village level.

Answer Optiozns :

1)  (a) and (b) 2)  (bl and (c) 3)  (b), (c) and (d)        4)  All options are correct



Am¶wº$/A{YH$mar g‘mOH$ë¶mU ImVo narjm / 25

For Private Circulation Only

3) Am¡Úmo{JH$ YmoaU
1) Am¡Úmo{JH$ YmoaU, 1956 Mr C{ÔîQ>ço ...... hr hmoVr.

a) Am¡Úmo{JH$ d¥Õr Xa J{V‘mZ H$aUo. b) AdOS> CÚmoJm§Mm {dH$mg H$aUo.
c) ImOJr joÌmMm {dñVma H$aUo. d) gmd©O{ZH$ joÌmMm {dñVma H$aUo.
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) ’$º$ (c) Am{U (d)

3) ’$º$ (b) Am{U (d) 4) ’$º$ (a), (b) Am{U (d)

1) Objectives of the industrial policy, 1956 were

a) To accelerate the rate of industrial growth b) To develop heavy industries

c) To expand private sector d) To expand public sector

Answer Options :

1) Only (a) and (b) 2) Only (c) and (d)

3) Only (b) and (d) 4) Only (a), (b) and (d)

2) ‘hmamï´> gaH$maÀ¶m 2019 À¶m Am¡Úmo{JH$ YmoaUmMr C{ÔîQ>ço Imbrbn¡H$s H$moUVr AmhoV?
a) ì¶mdgm{¶H$ n¶m©daU {Z‘m©U H$ê$Z Am¡Úmo{JH$ Jw§VdUyH$ dmT>{dUo.
b) amÁ¶m‘Ü¶o ‘moR>çm CÚmoJY§Úm§Mm {dH$mg KS>dyZ AmUyZ amoOJma{Z{‘©VrMo à‘mU dmT>{dUo.
c) gd©g‘mdoeH$, g§Vw{bV Am{U emídV {dH$mg KS>dyZ AmUUo.
n¶m©¶r CÎmao …
1) a Am{U b 2) b Am{U c 3) a Am{U c 4) a, b Am{U c

2) Which of the following are objectives of Maharashtra’s Industrial Policy 2019 ?

a) To increase industrial investment by creating business environment.

b) To increase the proportion of employment generation in state by the development of large

scale industries.

c) To bring about inclusive, balanced and sustainable development.

Answer options :

1) a and b 2) b and c 3) a and c 4) a, b and c

3) 1991 À¶m Am¡Úm¡{JH$ YmoaUmZwgma {dXoer Jw§VdUwH$sMr ...... Amdí¶H$Vm Amho.
a) AmYw{ZH$sH$aUmgmR>r b) {Z¶m©VdmT>rgmR>r d H$O©’o$S>rgmR>r
c) Am¡Úmo{JH$ {dH$mgmgmR>r d) V§ÌkmZ gwYmaÊ¶mgmR>r
n¶m©¶r CÎmao …
1) a Am{U c hr {dYmZo ~amo~a AmhoV 2) a, b Am{U c hr {dYmZo ~amo~a AmhoV
3) d ho {dYmZ ~amo~a Amho 4) a, c Am{U d hr {dYmZo ~amo~a AmhoV

3) According to Industrial Policy 1991, the Foreign Investment is essential for

a) Modernisation b) Growing exports and Repaying loan

c) Industrial Development d) Technology upgrading

Answer options :

1) a and c these statements are correct 2) a, b and c these statements are correct

3) d statement is correct 4) a, c and d these statements are correct
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4) dmhZ d dmhVyH$ YmoaU
1) H$WZ I … ''OmZodmar 2001 ‘Ü¶o ^maV gaH$maZo Xoem§VJ©V Ob dmhVyH$ YmoaUmbm ‘mÝ¶Vm {Xbr.''

H$WZ II … ''aoëdo Am{U añVo dmhVyH$ ho EH$‘oH$m§Zm nyaH$ AgVmV.''
n¶m©¶r CÎmao …
1) H$WZ I AgË¶ Amho. 2) H$WZ II AgË¶ Amho.
3) H$WZ I Am{U II, XmoÝhrhr AgË¶ AmhoV. 4) H$WZ I Am{U II, XmoÝhrhr gË¶ AmhoV.

1) Statement I : "The Inland Water Transport Policy was approved by the Government of India in

January 2001".

Statement II : "Railway and Road Transport are complementary to each-other".

Answer options :

1) Statement I is false 2) Statement II is false

3) Statement I and II, both are false 4) Statement I and II, both are true

2) Imbrb {dYmZo {dMmamV ¿¶m …
a) ’o$~«wdmar, 2018 ‘Ü¶o ‘hmamï´>mMo BcopŠQ´H$ ìhoB©H$b àmoËgmhZ YmoaU, 2018 Omhra H$aÊ¶mV Ambo.
b) ‘hmamï´>mMo BcopŠQ´H$ ìhoB©H$b àmoËgmhZ YmoaU, 2018 A§VJ©V gmV BcopŠQ´H$ dmhZ CËnmXZ KQ>H$ Am{U EH$m ~°Q>ar

CËnmXZ KQ>H$mH$Sy>Z é. 8420 H$moQ>r àñVm{dV Jw§VdUwH$sMo àñVmd àmá Pmbo.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo A¶mo½¶ Amho/V?
1) Ho$di (a) A¶mo½¶ Amho 2) Ho$di (b) A¶mo½¶ Amho
3) XmoÝhr (a) Am{U (b) A¶mo½¶ AmhoV 4) darbn¡H$s H$moUVohr Zmhr

2) Consider the following statements :

a) Maharashtra Electric Vehicle Promotion Policy, 2018 declared in February, 2018.

b) Under Maharashtra Electric Vehicle Promotion Policy 2018 proposals have been received

from seven electric vehicle manufacturing units and one battery manufacturing unit with

proposed investment of % 8420 crore.

Which of the statement/s given above is/are incorrect ?

1) Only (a) is correct 2) Only (b) is correct

3) Both (a) and (b) are incorrect 4) None of the above

3) ‘hmamï´> BcopŠQ´H$/{dÚwV dmhZ àmoËgmhZ YmoaUm~Ôb Imbrb {dYmZo {dMmamV ¿¶m.
a) ¶mMr KmofUm ’o$~«wdmar 2018 ‘Ü¶o H$aÊ¶mV Ambr.
b) gwYmarV ‘hmamï´> BcopŠQ´H$/{dÚwV dmhZ àmoËgmhZ YmoaU gZ 2022 ‘Ü¶o Omhra H$aÊ¶mV Ambo.
n¶m©¶r CÎmao …
1) ’$º$ a ~amo~a 2) ’$º$ b ~amo~a
3) a Am{U b XmoÝhr ~amo~a 4)  a Am{U b XmoÝhr ~amo~a ZmhrV

3) Consider the following statements about the Maharashtra Electric Vehicle Incentive Policy.

a) It was announced in February 2018.

b) The revised Maharashtra Electric Vehicle Policy was announced in year 2022.

Answer options :

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) Neither a nor b is correct
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4) Imbrb {dYmZo {dMmamV ¿¶m.
a) ‘hmamï´> emgZmZo ‘mM© 2021 ‘Ü¶o H$madm§ (H°$a°ìhZ) n¶©Q>Z YmoaU ‘§Oya Ho$bo.
b) H$madm§ (H°$a°ìhZ) n¶©Q>Z YmoaU 2021 A§VJ©V ñHy$~m S>m¶pìh¨J, dm°Q>a a±nqcJ Am{U Q´>oqH$J ¶m§Mm g‘mdoe hmoVmo.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/V?
n¶m©¶r CÎmao …
1) ’$º$ b ~amo~a Amho 2) ’$º$ a ~amo~a Amho
3) XmoÝhr a Am{U b ~amo~a AmhoV 4) darbn¡H$s H$moUVohr Zmhr

4) Consider the following statements.

a) Government of Maharashtra approved Caravan Tourism Policy in March 2021.

b) Caravan Tourism Policy 2021 covers scuba diving, water rapplling and trekking.

Which of the statement/s given above is/are correct ?

1) Only b is correct 2) Only a is correct

3) Both a and b are correct 4) None of the above

5) nwZd©gZ YmoaU
1) ‘hmamï´> emgZmÀ¶m ŷH§$n nwZd©gZ YmoaUmZwgma Imbrbn¡H$s ‘XVrMm H$moUVm {ZH$f Amho?

a) Aer IoS>r H$s OoWo 70% nojm OmñV Kam§Mr dJ© IV d V hmZr Pmbr Amho, Vr ZdrZ OmJoda ñWm{nV H$aUo d ZdrZ
~m§YH$m‘ H$aUo.

b) Aer IoS>r H$s OoWo 55% nojm OmñV Kam§Mr hmZr Pmbr Amho, Vr ZdrZ OmJoda ñWm{nV H$aUo d ZdrZ ~m§YH$m‘
H$aUo.

n¶m©¶r CÎmao …
1) XmoÝhr (a) Am{U (b) 2) ’$º$ (b)

3) ’$º$ (a) 4) (a) d (b) n¡H$s H$moUVmhr Zmhr
1) According to the earthquake rehabilitation policy of Maharashtra Government, which of the

following is the criterion of assistance?

a) Villages in which more than 70% of house suffered category IV and V damages, would be

relocated and reconstructed on new site.

b) Villages where more than 55% of the houses have been damaged, relocate and construct new

ones.

Answer Options :

1) Both (a) and (b) 2) Only (b) 3) Only (a) 4) Neither (a) nor (b)

2) J«m‘rU {dH$mg ‘§Ìmc¶mZo V¶ma Ho$coco ZdrZ nwZd©gmhV Am{U nwZd©gZ YmoaU, 2007 ........... ¶mda cj H|${ÐV
H$aVo.
a) YmoaUm‘Ü¶o gd© AZ¡pÀN>H$ {dñWmnZmMm g‘mdoe hmoVmo.
b) 400/200 qH$dm A{YH$ Hw$Qw>§~mgmR>r gnmQ> qH$dm Am{Xdmgr àXoemgmR>r gm‘m{OH$ à^md ‘yë¶m§H$Z gwé Ho$co.
c) {dñWmnZmnydu nwZd©gZmMo VÎd.
d) ŷ{‘hrZmgh gd© Hw$Qw>§~mgmR>r KaHw$c.
e) gm‘wXm{¶H$ Am{U Ym{‘©H$ ~¡R>H$mgmR>r Am{XdmgtZm ‘mo’$V O‘rZ {‘ioc.
n¶m©¶r CÎmao :
1) darc gd© 2) b Am{U c 3) d Am{U e 4) a Am{U c
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2) New Resettlement and Rehabilitation Policy, 2007 formulated by Ministry of Rural Development

focuses on

a) Policy covers all involuntary displacement.

b) Social impact assessment introduced for 400/200 or more families in plain/ tribal areas.

c) Principle of rehabilitation before displacement.

d) Housing for all families including the landless.

e) STs to get free of cost land for community and religious gathering.

Answer options :

1) All of the above 2) b and c 3) d and e 4) a and c

6) ‘{hbm d ~mcH$m§gmR>rMo amḯ>r¶ YmoaU
1) "~mcH$m§gmR>rMo amï´>r¶ YmoaUm" g§~§§§Yr Imcrc {dYmZo {dMmamV ¿¶m :

A) ~mcH$m§gmR>rMo ZdrZ amï´>r¶ YmoaUm (2013) AÝd¶o àË¶oH$ gmoim dfm©Imcrc ì¶{º$cm ~mcH$ åhUyZ g§~moYco Joco.
~) ~mcH$m§gmR>rMo ZdrZ amï´>r¶ YmoaUm (2013) AÝd¶o ~mcH$m§Mm ‘mZ{gH$, ̂ md{ZH$, ~m¡{ÕH$, gm‘m{OH$ d gm§ñH¥${VH$

{dH$mg EH${ÌVnUo hmVr ¿¶md¶mg hdm ho ‘mJ©Xe©H$ VÎd åhUyZ ‘m§S>co Joco.
n¶m©¶r CÎmao :
1) {dYmZ "A' ~amo~a 2) {dYmZ "~' ~amo~a
3) XmoÝhrhr {dYmZo ~amo~a 4) XmoÝhrhr {dYmZo MyH$sMr

1) Consider the following statements about ‘National Policy for Children’ :

A) The New National Policy (2013) for children recognises every person below the age of sixteen

years as a child.

B) The New National Policy (2013) for children lays down the guiding principle that the mental,

emotional, cognitive, social and the cultural development of the child are to be addressed in

totality.

Answer options :

1) Statement ‘A’ is correct 2) Statement ‘B’ is correct

3) Both the statements are correct 4) Both the statements are false

7) e¡j{UH$ YmoaU
1) {ejUmÀ¶m H$moUË¶m YmoaUmZo 5+3+3+4 øm e¡j{UH$ AmH¥${V~§YmMr {e’$mag Ho$cr ?

1) amï´>r¶ e¡j{UH$ YmoaU - 2020 2) amï´>r¶ e¡j{UH$ YmoaU - 1986
3) amï´>r¶ e¡j{UH$ YmoaU narjU g{‘Vr - 1990 4) {ejUmMo amï´>r¶ YmoaU - 2000

1) The 5+3+3+4 Educational pattern was recommended by which policy of Education ?

1) National Education Policy — 2020

2) National Education Policy — 1986

3) National Education Policy Review Committee — 1990

4) National Policy of Education — 2000

2) amï´>r¶ e¡j{UH$ YmoaU 2020 Zwgma {ejU h¸$ H$m¶Xm 2009 ‘Ü¶o ....... d¶moJQ>mVrb ‘wbm§Mm g‘mdoe H$amdm bmJob.
1) 3 - 18 2) 6 - 18
3) 3 - 14 4) ~Xb H$amdm bmJUma Zmhr
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2) As per the National policy of education 2020 the Right to Education Act 2009 will cover the

children of the ages ......................

1) 3-18 2) 6-18 3) 3-14 4) No changes required

3) amï´>r¶ e¡j{UH$ YmoaU 2020 Zwgma embo¶ ñVamdarb nyd©Ü¶m¶Z ñVam‘Ü¶o ........... B¶Îmm§Mm g‘mdoe Agob.
1) {Vgar Vo nmMdr 2) {Vgar Vo AmR>dr
3) n{hbr Am{U Xþgar 4) n{hbr Am{U {Vgar

3) As per National Policy of Education 2020 preparatory stage of school education will include

............  (standards) Grades.

1) Third to fifth 2) Third to eight 3) First and second 4) First and third

4) amï´>r¶ {ejU YmoaU 2020 Zwgma ............. H$m¶©H«$‘ Wm§~{dÊ¶mV ¶oB©b.
1) nrEM.S>r. 2) E‘.{’$b. 3) E‘.gr.E. 4) E‘.nr.ES>.

4) As per the National Education policy 2020 ................ programme shall be discontinued.

1) Ph.D 2) M.Phil 3) MCA 4) M.P.Ed

5) amï´>r¶ e¡j{UH$ YmoaU 2019, Zwgma ''~mb {ejU Am{U g§JmonZmMm amï´>r¶ Aä¶mgH«$‘ Am{U AÜ¶mnZemór¶
AmamIS>m'' V¶ma H$aÊ¶mMr O~m~Xmar Imbrbn¡H$s H$moUË¶m g§ñWoMr Amho?
1) ¶w.Or.gr. 2) EZ.gr.B©.Ama.Q>r. 3) EZ.gr.Q>r.B©. 4) EM.Ama.S>r.‘§Ìmb¶

5) As per New Education Policy (2019) to develop a "National Curricular and Pedagogical

Framework for Early Childhood Care and Education" (NCPFECCE) is the responsibility of which

of the following institute?

1) UGC 2) NCERT 3) NCTE 4) Ministry of HRD

6) 1986 À¶m amï´>r¶ YmoaUm‘Ü¶o 1992 ‘Ü¶o H$mhr ~Xc H$éZ amï´>r¶ ñVamdarc nwT>rcn¡H$s H$moUË¶m g§ñWm§Mo nwZamdcmoH$Z
H$aÊ¶mV Amco ?
a) EZgrB©AmaQ>r (NCERT) b) ¶yOrgr (UGC)

c) EZAm`B©nrE (NIEPA) d) EZgrìhrQ>r (NCVT) e) EAm¶grQ>rB© (AICTE)

n¶m©¶r CÎmao :
1) a, d, e 2) a, b, c 3) c, d, b 4) b, c, e

6) The National Education Policy of 1986 was revised in 1992 with some changes in which of the

following institutions at the national level ?

a) NCERT b) UGC c) NIEPA

d) NCVT e) AICTE

Answer options :

1) a, d, e 2) a, b, c 3) c, d, b 4) b, c, e

7) amï´>r¶ e¡j{UH$ YmoaU 2020 Zwgma amï´>r¶ e¡j{UH$ g§emoYZ Am{U à{ejU n[afX Zo n{hë¶m§XmM amï´>r¶ Aä¶mgH«$‘
Am{U AÜ¶mnZemó AmamIS>m ........... ¶m Aä¶mgH«$‘mgmR>r V¶ma Ho$cm Amho.
1) àmW{‘H$ {ejU 2) àma§{^H$ ~më¶mdñWm g§JmonZ Am{U {ejU
3) {deof JaOm Agcoë¶m {dÚmÏ¶m©gmR>r {ejU 4) àkmd§V ‘wcm§gmR>r {ejU
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7) National Council of Educational Research and Training has first time prepared the National

curricular and Pedagogical framework for the programme as per NEP 2020.

1) Primary education 2) Early childhood care and education

3) Education for special needs students 4) Education for gifted children

8) amï´>r¶ e¡j{UH$ YmoaU 2020 Zwgma "naI" ho àñVm{dV .......... Amho.
1) amï´>r¶ ‘mJ©Xe©Z H|$Ð 2) amï´>r¶ kmZ H|$Ð
3) amï´>r¶ ‘yë¶m§H$Z H|$Ð 4) amï´>r¶ Aä¶mgH«$‘ {dH$gZ H|$Ð

8) As per the National Policy on Education 2020 ‘PARAKHW’ is proposed

1) National Guidance Centre 2) National Knowledge Centre

3) National Assessment Centre 4) National Curriculum Development Centre

8) amï´>r¶ e¡j{UH$ YmoaU 2020 Zo .......... da cj H|${ÐV H$aÊ¶mgmR>r ‘Zwî¶ ~i {dH$mg ‘§Ìmc¶mMr nwZa©MZm {ejU
‘§Ìmc¶mV H$aÊ¶mgmR>r {e’$mag Ho$cr Amho.
1) {ejU Am{U AÜ¶¶Z 2) {ejUmV {dÚmÏ¶mªMm àdoe dmT>{dÊ¶mgmR>r
3) {ejUmMr JwUdÎmm 4) AÜ¶¶Z Am{U AÜ¶mnZ

9) The National Education Policy 2020 recommended to re designate Ministry of Human Resource

Development as Ministry of Education to focus on

1) Education and learning 2) Increase the access of students in education

3) Quality of education 4) Learning and teaching

10) {d{dY ñWm{ZH$ ~mobr ^mfm ~mobUmè¶m {ejH$m§Zm ^mS>çmZo ¿¶mdo Aer {e’$mag amï´>r¶ e¡j{UH$ YmoaU 2019 Zo ......
gmR>r Ho$br.
1) ‘wbtÀ¶m {ejU 2) AZwgy{MV OmVr d BVa ‘mJmgdJu¶ ‘wbm§À¶m {ejU
3) Aëng§»¶m§H$ g‘mOmVrb ‘wbm§Mo {ejU 4) ehar Jar~ Hw$Qw>§~mVrb ‘wbm§Mo {ejU

10) National Education Policy 2019 recommended to hire teachers who speak various local home

languages for ......

1) Education of girl students

2) Education of children belonging to SC and OBC

3) Education of children from minority community

4) Education of children from urban poor family

11) ZdrZ amï´>r¶ e¡j{UH$ YmoaU 2016 {ZpíMV H$aÊ¶mgmR>r Q>r.Eg.Ama. gw~«åhÊ¶‘ g{‘VrZo {e’$maer Ho$ë¶m.
a) {dÚmnrR> AZwXmZ Am¶moJ, A{Ib ^maVr¶ Vm§{ÌH$ {ejU n[afX, gma»¶m {Z¶§ÌU ¶§ÌUm‘Ü¶o ‘yb ŷV ~Xb Ho$bo

OmdoV.
b) B¶Îmm nmMdr n¶ªVMo {ejU ‘mV¥̂ mfoVyZM Úmdo.
c) H$m¡eë¶nyU© d ì¶dgm¶m{^‘wI {ejUmda ^a Úmdm.
d) EHy$U OrS>rnrÀ¶m 6% BVH$m IM© {ejUmda H$amdm.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV?
1) ’$º$ (a) 2) ’$º$ (b) 3) (a), (c) Am{U (d) 4) darb gd©
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11) Recommendations made by T.S.R. Subramanyam Committee for the determination of the new

National Education Policy 2016.

a) Fundamental changes should be made to the governing bodies such as University Grants

Commission, All India Council for Technical Education.

b) Education upto5th Class should be in mother tongue.

c) Emphasis should be placed on Skill and Vocational Education.

d) 6% of the total GDP should be spent on Education.

Which of the statement(s) given above is/are correct?

1) Only (a) 2) Only (b) 3) (a), (c) and (d) 4) All of the above

12) Z{dZ e¡j{UH$ YmoaU (2019) À¶m ‘gwÚmZwgma nwT>rbn¡H$s H$moUË¶m ì¶mdgm{¶H$ nXdr Aä¶mgH«$‘m§Mm H$mbmdYr Mma
df} (qH$dm Ë¶mnojm A{YH$) Agob ?
a) dm{UÁ¶ b) A{^¶m§{ÌH$s Am{U d¡ÚH$s¶
c) H$bm d) {dYr Am{U {ejH$ {ejU
n¶m©¶r CÎmao …
1) (a) Am{U (c) 2) (a) Am{U (d) 3) (b) Am{U (d) 4) (c) Am{U (d)

12) According to Draft of New Education Policy (2019) which of the following professional streams

may only have 4 years duration (or more) for the undergraduate degree ?

a) Commerce b) Engineering and Medicine

c) Arts d) Law and Teacher Education

Answer Options :

1) (a) and (c) 2) (a) and (d) 3) (b) and (d) 4) (c) and (d)

13) amï´>r¶ Am¡Úmo{JH$ YmoaU 2020 ho {ejUmÀ¶m gd© gVamì¶m ......... AÜ¶¶ZmMm Adb§~ H$aÊ¶mg gwM{dVo.
1) Ame¶ AmYm[aV 2) nmR>çnwñVH$mda AmYm[aV
3) AZŵ dmË‘H$ {ejU 4) dV©ZdmXr

13) National policy of education 2020 suggest that ...... learning will be adopted at all levels of education.

1) content oriented 2) text book oriented

3) experiential learning 4) behaviouristic

14) ZdrZ e¡j{UH$ YmoaU, 2020 ‘Ü¶o Zm|X{dboë¶m {Z[ajUmà‘mUo ^maVmVrb Cƒ {ejU àUmar Imbrbn¡H$s H$moUË¶m
g‘ñ¶m§Mm gm‘Zm H$aV Amho ?
a) A{Ve¶ {dIwabobr Cƒ e¡j{UH$ n[ag§ñWm.
b) AmH$bZ H$m¡eë¶mMm {dH$mg Am{U AÜ¶¶ZmÀ¶m {Zî‘Îmrda H$‘r ^a.
c) e¡j{UH$ emIm§Mr gmMo~§X nÕVrZo {d^mJUr
d) ‘¶m©{XV {ejH$ Am{U g§ñWmË‘H$ ñdm¶ÎmVm.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) darbn¡H$s gd© 4) darbn¡H$s Zmhr

14) As observed in the New Education Policy 2020, the higher education system in India is facing

which of the following problems ?

a)  A severely fragmented higher education ecosystem.

b) Less emphasis on the development of Cognitive Skills and Learning outcomes.

c) A rigid separation of disciplines.

d) Limited Teacher and institutional autonomy.

Answer Options :

1) Only (a) 2) Only (b) 3) All of the above 4) None of the above
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15) Imcrcn¡H$s amï´>r¶ e¡j{UH$ YmoaU 2020 Mr d¡{eîQ>ço H$moUVr AmhoV ?
a) àË¶oH$ {dÚmÏ¶m©À¶m gdmªJrU {dH$mgmcm MmcZm.
b) narjogmR>rÀ¶m Aä¶mgmda ^a.
c) gmH$[aH$ ‘yë¶‘mnZmda cj.
d) ‘mZdr¶ KQ>ZmË‘H$ ‘yë¶o Am{U Z¡{VH$Vm OmonmgUo.
e) ~më¶mdñWm H$miOr Am{U {ejU ¶mH$S>o Xþc©j.
f) 3 Vo 18 dfm©n¶ªVÀ¶m {dÚmÏ¶mªZm ‘mo’$V Am{U ~§YZH$maH$ {ejU.
n¶m©¶r CÎmao :
1) a, c, d 2) a, d, f 3) b, c, e 4) darc gd©

15) Which of the following are the features of the National Education Policy 2020 ?

a) Promotion of holistic development of each child.

b) Focus on learning for exam.

c) Focus on summative evaluation.

d) Foster ethics and human constitutional values.

e) Neglect early childhood care and education.

f) Free and compulsory education for students of 3 to 18 years of age.

Answer options :

1) a, c, d 2) a, d, f 3) b, c, e 4) All of the above

16) ¶enmc g{‘Vr (1993) Ahdmcm‘Ü¶o àmW{‘H$ {ejUmÀ¶m g§X^m©V Imcrc {e’$maer Ho$ë¶m hmoË¶m.
A) Zg©ar dJm©V àdoe KoVmZm narjm KoUo, ‘wcmIVr KooUo ho nyU©nUo Q>mimdoV.
B) àmW{‘H$ ñVamdarc {dÚmÏ¶mªZm J¥hnmR> XoD$ Z¶oV.
C) emioVrc ghH$m¶m©Ë‘H$ AÜ¶¶Zmcm MmcZm XoUo.
D) àmW{‘H$ emim§Zm ‘wº$nUo AZwXmZ Úmdo.
n¶m©¶r CÎmao :
1) gd© A, B, C Am{U D ~amo~a AmhoV 2) A Am{U B ~amo~a AmhoV
3) A, B Am{U C ~amo~a AmhoV 4) A Am{U D ~amo~a AmhoV

16) In Yashpal Committee Report (1993) following recommendations were made for primary

education

A) Practice of holding tests and interviews for admissions to nursery classes should be abolished.

B) In Primary classes children should not be given any homework.

C) To give a boost to co-operative learning in schools.

D) Primary schools should be provided grants liberally.

Answer options :

1) All A, B, C and D are correct 2) A and B are correct

3) A, B and C are correct 4) A and D are correct

17) amï´>r¶ e¡j{UH$ YmoaU 2000 Zwgma 2010 gmR>r Imcrcn¡H$s H$moUVo C{ÔîQ>ço hmoVr ?
a) ~mc‘¥Ë ỳ Xa Xa hOmar {Od§V OÝ‘m‘mJo 30 À¶m Imcr AmUUo.
b) ‘mVm ‘¥Ë ỳ Xam§Mo à‘mU Xa 100000 {Od§V OÝ‘m‘mJo 100 À¶m Imcr AmUUo.
c) 80% g§ñWmË‘H$ àgyVr Am{U 100% àgyVr à{e{jV ì¶º$sÛmao H$aÊ¶mMo gmÜ¶ H$aUo.
d) OÝ‘, ‘¥Ë ỳ, {ddmh Am{U J ©̂YmaUoMr 100% Zm|XUr gmÜ¶ H$aUo.
n¶m©¶r CÎmao :
1) c  Am{U d 2) a Am{U b 3) darcn¡H$s gd© 4) darcn¡H$s Zmhr
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17) Which of the following were goals for 2010 as per National Population Policy, 2000 ?

a. Reduce infant mortality rate to below 30 per 1000 live births.

b. Reduce maternal mortality ratio to below 100 per 100000 live births.

c. Achieve 80% institutional deliveries and 100% deliveries by trained persons.

d. Achieve 100% registration of births, deaths, marriage and pregnancy.

Answer options :

1) c and d 2) a and b 3) All of the above 4) None of the above

18) amï´>r¶ e¡j{UH$ YmoaU 2020 ho Imcrc H$moUË¶m ‘mJ©Xe©H$ ñV§̂ mda AmYm[aV Amho ?
a) àdoe b) {Z/njnmVrnUm c) JwUdÎmm d) O~m~Xmar
n¶m©¶r CÎmao :
1) b Am{U d 2) a,c Am{U d 3) darcn¡H$s gd© 4) darcn¡H$s Zmhr

18) National Education Policy 2020 is based on which of the following guiding pillars ?

a) Access b) Impartiality c) Quality d) Accountability

Answer options :

1) b and d 2) a,c and d 3) All of the above 4) None of the above

19) amï´>r¶ e¡j{UH$ YmoaU 2020 ‘Ü¶o EZAmaE’$ Mr Imcrcn¡H$s H$moUVr àmW{‘H$ H$m¶} AgVrc ?
a) ñnYm©Ë‘H$, gd© àH$maÀ¶m Am{U gd© emIm§À¶m ghAÜ¶m¶r nwZamdcmoH$sV AZwXmZ àñVmdmgmR>r {ZYr XoUo.
b) {OWo g§emoYZ, ZdOmV AdñWoV Amho Aem {dÚmnrR>m§Zm Am{U ‘hm{dÚmc¶m§Zm ‘mJ©Xe©Z H$éZ g§emoYZ àma§̂ ,

{dH${gV Am{U gwc^ H$aUo.
c) g§emoYH$ Am{U gaH$maÀ¶m VgoM CÚmoJm§À¶m g§~§{YV emIm§‘Ü¶o Xþdm åhUyZ H$m‘ H$aUo.
d) CËH¥$ï> g§emoYZ Am{U àJVrMm gÝ‘mZ H$aUo.
n¶m©¶r CÎmao :
1) b Am{U c 2) b,cAm{U d 3) a,b,c Am{U d 4) darcn¡H$s Zmhr

19) Which of the following will be the primary function of NRF in National Education Policy 2020?

a) Funding of competitive, peer reviewed grant proposals of all types and disciplines.

b) To initiate develop and facilitate research by guiding universities and colleges where research

is in neonatal stage.

c) Acting as a link between researcher and relevant branches of government as well as industry.

d) Honoring outstanding research and progress.

Answer options :

1) b and c 2) b,c and d 3) a,b,c and d 4) None of the above

20) amï´>r¶ e¡j{UH$ YmoaU 2020 ho Imcrc H$moUË¶m ‘mJ©Xe©H$ ñV§̂ mda AmYm[aV Amho ?
a) àdoe b) {Z/njnmVrnUm c) JwUdÎmm d) O~m~Xmar
n¶m©¶r CÎmao :
1) b Am{U d 2) a,c Am{U d 3) darcn¡H$s gd© 4) darcn¡H$s Zmhr

20) National Education Policy 2020 is based on which of the following guiding pillars ?

a) Access b) Impartiality c) Quality d) Accountability

Answer options :

1) b and d 2) a,c and d 3) All of the above 4) None of the above
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21) amï´>r¶ e¡j{UH$ YmoaU 2020 ‘Ü¶o EZAmaE’$ Mr Imcrcn¡H$s H$moUVr àmW{‘H$ H$m¶} AgVrc ?
a) ñnYm©Ë‘H$, gd© àH$maÀ¶m Am{U gd© emIm§À¶m ghAÜ¶m¶r nwZamdcmoH$sV AZwXmZ àñVmdmgmR>r {ZYr XoUo.
b) {OWo g§emoYZ, ZdOmV AdñWoV Amho Aem {dÚmnrR>m§Zm Am{U ‘hm{dÚmc¶m§Zm ‘mJ©Xe©Z H$éZ g§emoYZ àma§̂ ,

{dH${gV Am{U gwc^ H$aUo.
c) g§emoYH$ Am{U gaH$maÀ¶m VgoM CÚmoJm§À¶m g§~§{YV emIm§‘Ü¶o Xþdm åhUyZ H$m‘ H$aUo.
d) CËH¥$ï> g§emoYZ Am{U àJVrMm gÝ‘mZ H$aUo.
n¶m©¶r CÎmao :
1) b Am{U c 2) b,cAm{U d 3) a,b,c Am{U d 4) darcn¡H$s Zmhr

21) Which of the following will be the primary function of NRF in National Education Policy 2020?

a) Funding of competitive, peer reviewed grant proposals of all types and disciplines.

b) To initiate develop and facilitate research by guiding universities and colleges where research

is in neonatal stage.

c) Acting as a link between researcher and relevant branches of government as well as industry.

d) Honoring outstanding research and progress.

Answer options :

1) b and c 2) b,c and d 3) a,b,c and d 4) None of the above

8) ¶wdH$ YmoaU
1) amï´>r¶ ¶wdH$ YmoaU 2014 Mr Imcrcn¡H$s C{ÔîQ>ço H$moUVr Amho/AmhoV ?

a) VéUm§Zm ¶mo½¶ {ejU H$m¡eë¶ XoD$Z Am{U CÚmoOH$m§Zm MmcZm XoD$Z Ë¶m§Zm CËnmXH$ H$m¶©eº$s åhUyZ {dH${gV
H$aUo.

b) à^mdr Amamo½¶ godm, {ZamoJr OrdZe¡cr Am{U Ioim§VyZ EH$ ‘O~yV Am{U {ZamoJr {nT>r {dH${gV H$aUo.
c) VéUm§‘Ü¶o gm‘m{OH$ ‘yë ò Am{U g‘mOgodoMr ^mdZm dmT>{dUo.
n¶m©¶r CÎmao :
1)  ’$º$ c 2) b Am{U c 3) a,b Am{U c 4) darcn¡H$s Zmhr

1) Which of the following is/are the objectives of the National Youth Policy 2014 ?

a) To develop the youth into a productive workforce, by providing them the right education and

skills and promoting entrepreneurship.

b) To develop a strong and healthy generation through effective health care, promotion of a healthy

life style and sports.

c) To promote social values and spirit of community service among the youth.

Answer options :

1) Only c 2) b and c 3) a, b and c 4) None of the above

2) amï´>r¶ ¶wdH$ YmoaU 2014 Mr Imcrcn¡H$s C{ÔîQ>ço H$moUVr Amho/AmhoV ?
a) VéUm§Zm ¶mo½¶ {ejU H$m¡eë¶ XoD$Z Am{U CÚmoOH$m§Zm MmcZm XoD$Z Ë¶m§Zm CËnmXH$ H$m¶©eº$s åhUyZ {dH${gV

H$aUo.
b) à^mdr Amamo½¶ godm, {ZamoJr OrdZe¡cr Am{U Ioim§VyZ EH$ ‘O~yV Am{U {ZamoJr {nT>r {dH${gV H$aUo.
c) VéUm§‘Ü¶o gm‘m{OH$ ‘yë ò Am{U g‘mOgodoMr ^mdZm dmT>{dUo.
n¶m©¶r CÎmao :
1) ’$º$ c 2) b Am{U c 3) a,b Am{U c 4) darcn¡H$s Zmhr
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2) Which of the following is/are the objectives of the National Youth Policy 2014 ?

a) To develop the youth into a productive workforce, by providing them the right education and

skills and promoting entrepreneurship.

b) To develop a strong and healthy generation through effective health care, promotion of a healthy

life style and sports.

c) To promote social values and spirit of community service among the youth.

Answer options :

1) Only c 2) b and c 3) a, b and c 4) None of the above

3) amï´>r¶ e¡j{UH$ YmoaU 2019, Zwgma ''~mb {ejU Am{U g§JmonZmMm amï´>r¶ Aä¶mgH«$‘ Am{U AÜ¶mnZemór¶
AmamIS>m'' V¶ma H$aÊ¶mMr O~m~Xmar Imbrbn¡H$s H$moUË¶m g§ñWoMr Amho?
1) ¶w.Or.gr. 2) EZ.gr.B©.Ama.Q>r. 3) EZ.gr.Q>r.B©. 4) EM.Ama.S>r.‘§Ìmb¶

3) As per New Education Policy (2019) to develop a "National Curricular and Pedagogical

Framework for Early Childhood Care and Education" (NCPFECCE) is the responsibility of which

of the following institute?

1) UGC 2) NCERT 3) NCTE 4) Ministry of HRD

4) {d{dY ñWm{ZH$ ~mobr ^mfm ~mobUmè¶m {ejH$m§Zm ^mS>çmZo ¿¶mdo Aer {e’$mag amï´>r¶ e¡j{UH$ YmoaU 2019 Zo ......
gmR>r Ho$br.
1) ‘wbtÀ¶m {ejU 2) AZwgy{MV OmVr d BVa ‘mJmgdJu¶ ‘wbm§À¶m {ejU
3) Aëng§»¶m§H$ g‘mOmVrb ‘wbm§Mo {ejU 4) ehar Jar~ Hw$Qw>§~mVrb ‘wbm§Mo {ejU

4) National Education Policy 2019 recommended to hire teachers who speak various local home

languages for ......

1) Education of girl students

2) Education of children belonging to SC and OBC

3) Education of children from minority community

4) Education of children from urban poor family

5) embo¶ ì¶dñWmnZmg Imbrb H$m¶© H$aÊ¶mg RTE H$m¶Xm, 2009 Zo {e’$mag Ho$br Amho.
a) embo¶ H$m‘H$mOmda XoIaoI R>odUo. b) embo¶ {dH$mgmMo {Z¶moOZ d {e’$mag H$aUo.
c) àmá AZwXmZmÀ¶m Cn¶moJmda XoIaoI R>odUo. d) BVa {d{hV H$m¶©o gwê$ R>odUo.
n¶m©¶r CÎmao …
1) ’$º$ (a) {dYmZ ¶mo½¶ Amho. 2) ’$º$ (c) {dYmZ ¶mo½¶ Amho.
3) ’$º$ (d) {dYmZ ¶mo½¶ Amho. 4) gd© (a),(b),(c) Am{U (d) {dYmZo ¶mo½¶ AmhoV.

5) RTE Act, 2009 recommended school management to perform the following functions to :

a) Monitor the working of the school

b) Prepare and recommend school development plan.

c) Monitor the utilisation of the grant received.

d) Perform such other functions as may be prescribed.

Answer Options :

1) Only (a) statement is correct 2) Only (c) statement is correct

3) Only (d) statement is correct 4) All (a),b),(c) and (d) statements are correct
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6) ZdrZ amï´>r¶ e¡j{UH$ YmoaU 2016 {ZpíMV H$aÊ¶mgmR>r Q>r.Eg.Ama. gw~«åhÊ¶‘ g{‘VrZo {e’$maer Ho$ë¶m.
a) {dÚmnrR> AZwXmZ Am¶moJ, A{Ib ^maVr¶ Vm§{ÌH$ {ejU n[afX, gma»¶m {Z¶§ÌU ¶§ÌUm‘Ü¶o ‘yb ŷV ~Xb Ho$bo

OmdoV.
b) B¶Îmm nmMdr n¶ªVMo {ejU ‘mV¥̂ mfoVyZM Úmdo.
c) H$m¡eë¶nyU© d ì¶dgm¶m{^‘wI {ejUmda ^a Úmdm.
d) EHy$U OrS>rnrÀ¶m 6% BVH$m IM© {ejUmda H$amdm.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV?
1) ’$º$ (a) 2) ’$º$ (b) 3) (a), (c) Am{U (d) 4) darb gd©

6) Recommendations made by T.S.R. Subramanyam Committee for the determination of the new

National Education Policy 2016.

a) Fundamental changes should be made to the governing bodies such as University Grants

Commission, All India Council for Technical Education.

b) Education upto5th Class should be in mother tongue.

c) Emphasis should be placed on Skill and Vocational Education.

d) 6% of the total GDP should be spent on Education.

Which of the statement(s) given above is/are correct?

1) Only (a) 2) Only (b) 3) (a), (c) and (d) 4) All of the above

3) Am§Vaamḯ>r¶ ñVamdarb ¶§ÌUm d YmoaUo
1) g§¶wº$ amï´>o-Am{W©H$ Am{U gm‘m{OH$ ì¶dhma {d^mJ g§{já YmoaUmZwgma Imcrcn¡H$s H$moUVr/Vo {dYmZo/Z ~amo~a

Amho/V ?
a) 2023 Vo 2050 ‘Ü¶o 65 df©o qH$dm A{YH$ d¶mÀ¶m ì¶º$s¨Mr g§»¶m ^maVmV XþßnQ>rnojm A{YH$ hmoUo Ano{jV Amho.

Á¶m‘wio Amamo½¶ godm Am{U gm‘m{OH$ gwajocm AmìhmZ {‘ioc.
b) 2022 ‘Ü¶o ^maVmMm OÝ‘ Xa 2.0 OÝ‘ à{V ór, 2.1 EdT>m hmoÊ¶mÀ¶m C§~aR>çmda hmoVm.
c) ^maVmMr cmoH$g§»¶m 1970 ‘Ü¶o 558 Xecj hmoVr Am{U 2023 ‘Ü¶o 1429 Xecj hmoÊ¶mMm A§XmO AgyZ

2023 ‘Ü¶oM 1426 Xecj cmoH$g§»¶oÀ¶m MrZcm cmoH$g§»¶oV ^maV ‘mJo Q>mHo$c.
n¶m©¶r CÎmao :
1) ’$º$  a 2) ’$º$ b 3) ’$º$ c 4) darc gd©  a,b,c

1) As per U.N. DESA Policy Brief which of the following statements is/are right ?

a) Between 2023-2050, the number of persons aged 65 or over is expected to more than double

in India posing challenge to health care and social security.

b)In 2022, India’s birth rate at 2.0 births per woman was just below replacement threshold of 2.1.

c)India’s population was 558 million in 1970 and projected population stands at 1429 million in

2023 overtaking China at 1426 million in 2023.

Answer options :

1) a only  2) b only 3) conly 4) All a,b,c

2) ""cmoH$g§»¶oMm AmH$ma qH$dm aMZm ¶mg§~§Yr emgZmZo {ZpíMV Ho$coë¶m C{Ôï>m§Mm EH$ g‘wXm¶ d Vr C{ÔîQ>ço gmÜ¶
H$aÊ¶mÀ¶m hoVyZo Cn¶moJmV AmUcocr gmYZo åhUOo cmoH$g§»¶m YmoaU,"" hr ì¶m»¶m H$moUr Ho$cr Amho ?
1)  hmon EëS>arO 2) ñn|Jca Am{U S>§H$Z
3) ~m°Z© Wm°ångZ Am{U co{dg 4)Hw$‘w{XZr Xm§S>oH$a
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2) Who of the following defined population policy as group of objectives set by the Government

about the size of the population and its structure and the means used to achieve those objectives?

1) Hope Eldridge 2) Spengler and Duncan

3) Bourne Thompson and Lewis 4) Kumudini Dandekar

3) OmJ{VH$ Amamo½¶ g§KQ>ZoÀ¶m gmd©{ÌH$ Amamo½¶ {dñVma (UHC) H$m¶©H«$‘ Am{U ^mJrXmarMm ^a ¶mda Amho.
a) àmW{‘H$ Am{U à{V~§YH$ Amamo½¶ XoI^mc CncãY hmoUo.
b) cmoH$m§Zm JaO Agcocr Am¡fYo Am{U Amamo½¶ CËnmXZo nmohmoMVrc ¶mMr ImÌr H$aUo.
c) Amamo½¶ H$m¶©H$Ë¶m©gmR>r H$m¶©~c à{ejU Am{U H$m‘Jma g§ajU.
d) XoUJrXma ê$nmV ^mJrXma
n¶m©¶r CÎmao :
1) a Am{U b 2) ’$º$ c 3) darc gd© 4)  a Am{U d

3) WHO’s Universal Health Coverage Programmes and Partnerships emphasize on

a) Access to primary and preventive health care.

b) Ensuring access to the medicines and health products people need.

c) Workforce training and labour protection for health workers.

d) Partnership in the form of donors.

Answer options :

1) a and b 2) Only c 3) All of the above 4) a and d

4) emgH$s¶ d AemgH$s¶ g§KQ>Zm§Mo H$m¶©H«$‘ d godm
1) amï´>r¶ ‘yë¶m§H$Z Am{U A{YñdrH¥$Vr n[afXoH$Sy>Z (Z°H$)
2) amḯ>r¶ {ejH$ {ejU n[afX (NCTE)

3) A{Ic ̂ maVr¶ V§Ì {ejU n[afX
4) e¡j{UH$ g§ñWm d {dÚmnrR>o
5) amï´>r¶ e¡j{UH$ g§emoYZ d à{ejU n[afX
6) ^maVr¶ d¥ÎmnÌ n[afX
7) cmc ~hmXÿa emór amï´>r¶ àemgZ AH$mX‘r

1) 'A' Am{U 'B' JQ>mÀ¶m OmoS>çm Owidm …
JQ> - A (A{Y{Z¶‘) JQ> - B (df©)

a) H|$Ðr¶ {dÚmnrR> A{Y{Z¶‘ i) 1956

b) H|$Ðr¶ e¡j{UH$ g§ñWm (àdoemV AmajU) A{Y{Z¶‘ ii) 2004

c) {dÚmnrR> AZwXmZ Am¶moJ A{Y{Z¶‘ iii) 2006

d) amï´>r¶ Aëng§»¶m§H$ {ejU g§ñWm A{Y{Z¶‘ iv) 2009

n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (iii) (iv) (i) (ii)

2) (iv) (iii) (i) (ii)

3) (ii) (iv) (i) (iii)

4) (iii) (ii) (i) (iv)
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1) Match the following pairs of Column 'A' with 'B'.

Column-A (Name of the Act) Column-B (Year)

a) The Central Universities Act i) 1956

b) The Central Educational Institutions ii) 2004

(Reservation in Admission) Act

c) The University Grant Commission Act iii) 2006

d) The National Commission for iv) 2009

Minority Education Institutions Act

Answer Options :

(a) (b) (c) (d)

1) (iii) (iv) (i) (ii)

2) (iv) (iii) (i) (ii)

3) (ii) (iv) (i) (iii)

4) (iii) (ii) (i) (iv)

2) Imcrc {dYmZo {dMmamV ¿¶m :
a) ¶wdm ì¶dhma Am{U {H«$S>m ‘§Ìmc¶mMr ñWmnZm gwédmVrcm {H«$S>m {d^mJ åhUyZ 1982 ‘Ü¶o Zdr {X„r ¶oWrc Zdì¶m

(IX) Am{e¶mB© Ioim§À¶m Am¶moOZmÀ¶mdoir H$aÊ¶mV Amcr.
b) Am§Vaamï´>r¶ ¶wdm df© 1985 gmOao H$aVmZm ¶wdm ì¶dhma Am{U {H«$S>m ‘§Ìmc¶mMo Zmd ¶wdm ì¶dhma Am{U {H«$S>m {d^mJ

Ago ~XcÊ¶mV Amco.
c) 27 ‘o 2008 amoOr ¶wdm ì¶dhma Am{U {H«$S>m {d^mJ ‘§Ìmc¶ ~Zco.
darcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
n¶m©¶r CÎmao :
1) ’$º$ a 2) ’$º$ c 3) a  Am{U b 4) darcn¡H$s Zmhr

2) Consider the following statements :

a) The Ministry of Youth Affairs and Sports was initially set up as the Department of Sports in

1982 at the time of organization of the ninth (IX) Asian Games in New Delhi.

b) The Ministry of Youth Affairs and Sports name was changed to the Department of Youth Affairs

and Sports during celebration of the International Youth year 1985.

c) Department of Youth Affairs and Sports become a Ministry on 274 May 2008.

Which of the statement(s) given above is/are correct ?

1) Only a 2) Only c 3) a and b 4) None of the above

3) H$moUË¶m {ejUmVrc JwUdÎmm dmT>{dÊ¶mgmR>r 2003 ‘Ü¶o MHRD Ûmao 'NPTEL' Mr gwédmV H$aÊ¶mV Amcr ?

1) d¡ÚH$s¶ {ejU 2)  H¥$fr {ejU 3) A{^¶m§{ÌH$s {ejU 4) H$m¶Xoera {ejU
3) ‘NPTEL’ was initiated by the MHRD in 2003 to enhance the quality in

1) Medical education 2)  Agricultural education

3) Engineering education 4)  Legal education

4) H$moUVr g§ñWm 'SWAYAM'  Mr amï´>r¶ g‘Ýd¶H$ Zmhr ?
1) NCTE 2) NCERT 3) CEC 4) NIOS

4) Which organization is not a national coordinator of‘SWAYAM’  ?

1) NCTE 2)  NCERT 3) CEC 4)  NIOS
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1) amḯ>r¶ ‘yë¶m§H$Z Am{U A{YñdrH¥$Vr n[afXoH$Sy>Z (Z°H$)
1) amï´>r¶ ‘yë¶m§H$Z Am{U A{YñdrH¥$Vr n[afXoH$Sy>Z (Z°H$) Cƒ e¡j{UH$ g§ñWm§Mo ‘yë¶m§H$Z H$aÊ¶mgmR>r H$moUVo {ZH$f

dmnaco OmVmV ?
a)$Aä¶mgH«$‘ n¡cy, AÜ¶mnZ-{ejU Am{U ‘yë¶m§H$Z
b)$g§emoYZ, ZdrZ CnH«$‘ Am{U {dñVma, nm¶m ŷV gw{dYm d AÜ¶¶Z g§gmYZo
c)${dÚmWu AmYma Am{U àJVr, emgZ, ZoV¥Ëd Am{U ì¶dñWmnZ
d)$g§ñWo~ÔcÀ¶m VH«$mar
n¶m©¶r CÎmao …
1) (a)$’$º$ (b)$ 2) (a), (b)$Am{U (c)

3) (a), (b)$Am{U (d) 4) gd© n¶m©¶ ~amo~a AmhoV
1) What are the criteria used by the National Assessment and Accreditation Council (NAAC) to

evaluate higher education institutions ?

a)  Curricular Aspect, Teaching-Learning and Evaluation

b)  Research, Innovations and Extensions, Infrastructure and Learning Resources

c)  Student Support and Progression, Governance, Leadership and Management

d)  Bumout Cases

Answer Options :

1)  (a) and (b) 2) (a), (b) and (c)

3)  (a), (b) and (d) 4) All options are correct

2) NAAC (amï´>r¶ ‘yë¶m§H$Z d ‘mÝ¶Vm n[afX) g§~§YmV nwT>rb {dYmZo {dMmamV ¿¶m.
a) AZwÀN>oX-361 AZwgma amÁ¶nmb Amnë¶m nXmÀ¶m A{YH$mam§À¶m dmnam~Ôb Am{U H$V©ì¶m§À¶m nmbZm~Ôb Ho$boë¶m

H¥$Vr~Ôb H$moUË¶mhr Ý¶m¶mb¶mg CÎmaXm¶r AgUma Zmhr.
b) amÁ¶nmb Amnë¶m nXmda Omon¶ªV Amho Vmon¶ªV Ë¶m§À¶m {déÕ H$moUË¶mhr ñdê$nmMr ’$m¡OXmar H$m¶©dmhr H$aVm ¶oUma

Zmhr AWdm Mmby R>odVm ¶oUma Zmhr.
c) amï´>nVr nX ho H$m¶m©Ë‘H$Vonojm A{YH$ g‘ma§̂ mË‘H$ Amho na§Vw amÁ¶nmbnX ho g‘ma§̂ mË‘H$ Ë¶mMà‘mUo H$m¶m©Ë‘H$

XoIrb Amho.
darbn¡H$s H$moUVo {dYmZ/Zo ~amo~a Amho/V?
1) (a) Am{U (d) 2) (a) Am{U (c) 3) (a), (b) Am{U (c) 4) darbn¡H$s gd©

2) Consider the following statements with reference to NAAC (National Assessment and

Accreditation Council)

a) NAAC was established in 1994

b) It is Constitutional body

c) It is funded by University Grants Commission

d) It's headquarter is at New Delhi

Which of the statements are given above is /are correct ?

1) (a) and (d) 2) (a) and (c) 3) a), (b) and (c) 4) All of the above
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2) amḯ>r¶ {ejH$ {ejU n[afX
1) amï´>r¶ {ejH$ {ejU n[afX (NCTE)  ¶mgmR>r O~m~Xma Amho -

a) àmW{‘H$, ‘mÜ¶{‘H$ Am{U Cƒ ‘mÜ¶{‘H$ ñVamda {ejU XoUmè¶m gd© Am¡nMm[aH$ emim‘Yrc {ejH$m§gmR>r e¡j{UH$
nmÌVm {d{hV H$aUo.

b) gdm}ËH¥$ï> ì¶mdgm{¶H$m§Zm O‘dyZ AZŵ dr d {dídmgy ‘mJ©Xe©ZmgmR>rÀ¶m amï´>r¶ {‘eZgmR>r nÕVr {dH${gV H$aUo d
AmamIS>m V¶ma H$aUo.

c) Xoe^amgmR>r {ejH$ {ejUmgmR>r àUmcrMo {Z¶moOZ d {dH$mg H$aUo.
d) gdm}ËH¥$ï> àm¡T>{ejU Aä¶mgH«$‘ Mm¡H$Q> {Z‘m©U H$aUo.
n¶m©¶r CÎmao :
1) ’$º$  a 2) ’$º$ b 3) ’$º$ d 4) a,b  Am{U c

1) National Council for Teacher Education (NCTE) is responsible for —

a) Prescribing qualifications for teachers in all formal schools imparting education at elementary,

secondary and senior secondary stages.

b) Developing and designing modalities for National Mission for Mentoring by Pooling outstanding

professionals.

c) Planning, developing the teacher education system throughout the country.

d) Creating an outstanding Adult Education Curriculum framework.

Answer options :

1) Onlya 2) Only b 3) Only d 4) a,b and c

3) A{Ic ^maVr¶ V§Ì {ejU n[afX
1) NPTEL d MHRD Mm EH$ àH$ën Amho. Omo ^maVr¶ V§ÌkmZ g§ñWm ...... Am{U . ~§Jbmoa gh 2003 ‘Ü¶o gwê$

Ho$bm Amho.
a) {X„r b) éaH$s c) H$mZnya
d) nwUo e) H$mobH$mVm
n¶m©¶r CÎmao …
1) ’$º$ (a), (b), (c) 2) ’$º$ (b), (d), (e) 3) ’$º$ (a), (d), (e) 4) ’$º$ (c), (d), (e)

1) NPTEL is a project of MHRD initiated by Indian Institute of Technology along with IISc Bangalore

in 2003.

a) Delhi b) Roorkee c) Kanpur

d) Pune e) Kolkata

Answer Options :

1) Only (a), (b), (c) 2) Only (b), (d), (e) 3) Only (a), (d), (e) 4) Only (c), (d), (e)

2) H$moUË¶m {ejUmVrc JwUdÎmm dmT>{dÊ¶mgmR>r 2003 ‘Ü¶o MHRD Ûmao 'NPTEL' Mr gwédmV H$aÊ¶mV Amcr ?
1) d¡ÚH$s¶ {ejU 2) H¥$fr {ejU
3) A{^¶m§{ÌH$s {ejU 4) H$m¶Xoera {ejU

2) ‘NPTEL’ was initiated by the MHRD in 2003 to enhance the quality in

1)  Medical education 2)  Agricultural education

3)  Engineering education 4)  Legal education
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3) amï´>r¶ à‘mUZ ‘§S>i (NBA) Mr ñWmnZm ...... À¶m nwT>mH$mamZo Pmbr.
1) ¶wZoñH$mo 2) ¶wOrgr 3) EZgrQ>rB© 4) EAm¶grQ>rB©

3) Board of Accreditation (NBA) was initially established by

1) UNESCO 2) UGC 3) NCTE 4) AICTE

4) Imcrcn¡H$s H$moUVo H$m¶© A{Ic ^maVr¶ Vm§{ÌH$ {ejU n[afX (AICT) H$aVo ?
a) ZdrZ ì¶mdgm{¶H$ d Vm§{ÌH$ {ejU g§ñWm gwê$ H$aÊ¶mg ‘mÝ¶Vm XoUo.
b) Vm§{ÌH$ {ejUmMo {ZH$f R>a{dUo.
c) Vm§{ÌH$ {ejUmMo ‘yë¶‘mnZ H$aUo.
darcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
1) ’$º$ (a) 2) ’$º$ (b) 3) darcn¡H$s Zmhr 4) darcn¡H$s gd©

4) Wich of the following function is done by the All India Council of Technical Education?

a) To give approval to start new professional and technical educational institutes.

b) To decide criteria of technical education.

c) To evaluate technical education.

Which of the statement(s) given above is/are correct?

1) Only (a) 2) Only (b) 3) None of the above 4) All the above

5) A{Ic ^maVr¶ V§Ì {ejU n[afXo g§X^m©V Imcrcn¡H$s H$moUVr {dYmZo MwH$sMo Amho/AmhoV ?
a) A{Ic ^maVr¶ V§Ì {ejU ‘§S>imMr ñWmnZm Zmoìh|~a 1949 ‘Ü¶o H$aÊ¶mV Amcr.
b) H|$Ð emgZ d amÁ¶ emgZ ¶m§Zm Vm§{ÌH$ {ejU g§ñWmnZ H$aÊ¶mgmR>r ‘mJ©Xe©Z H$aÊ¶mgmR>r ‘XV H$aVo.
c) A{^¶m§{ÌH$s ‘Yrc à{ejU Am{U g§emoYZmH$[aVm ‘mJ©Xe©Z H$aVo.
n¶m©¶r CÎmao :
1) ’$º$ a 2) ’$º$ b 3) a Am{U b 4)  darcn¡H$s Zmhr

5) Which of the following statement(s) is/are incorrect regarding All India Council for Technical

Education ?

a) The All India Board of Technical Education was established in November 1949.

b) To assist Central Government and State Government in guiding the establishment of Technical

Education Institutions.

c) To guide training and research in engineering.

Answer options :

1) Only a 2) Only b 3) a and b 4) None of the above

6) Imcrcn¡H$s H$moUVo EH$ A{Ic ^maVr¶ V§Ì{ejU n[afXoMo H$m¶© Zmhr ?
1) {ejUmÀ¶m gd© ñVam§da V§Ì{ejUmMm g‘Ýd¶ gmYUo.
2) {ejH$mÀ¶m à{ejUmMm H$m¶©H«$‘ V¶ma H$aUo.
3) V§Ì{ejUmMo {ejU ewëH$ d BVa ewëH$ ¶mg§~§Yr YmoaU V¶ma H$aUo.
4) gd© V§Ì{ejUmMo ImOJrH$aU H$aUo.

6) Which one of the following is not a function of All India Council for Technical Education ?

1)  To co-ordinate the technical education at all stages of education.

2)  To prepare the programme for teacher's training.

3)  To prepare the policy regarding tuition fees and other fees for technical education.

4)  To privatize all technical education.
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7) B§{S>¶Z BpÝñQ>Q>çyQ> Am°’$ ‘°ZoO‘|Q> (IIM) ~m~V Imbrb {dYmZo {dMmamV ¿¶m Am{U ¶mo½¶ n¶m©¶ {ZdS>m.
a) Am¶.Am¶.E‘. amohVH$ ho n§Om~ amÁ¶mV pñWV Amho.
b) ‘hmamï´>mV Am¶.Am¶.E‘. ‘§w~B© ¶oWo pñWV Amho.
c) Z°eZb BpÝñQ>Q>çweZb a±qH$J ’«o$‘dJ© 2020 Zwgma Am¶.Am¶.E‘. Ah‘Xm~mX ¶mg àW‘ JwUmZwH«$‘ Amho.
d) Am¶.Am¶.E‘. bIZD$Mr ñWmnZm 1986 ‘Ü¶o H$aÊ¶mV Ambr Am{U EZ.Am¶.Ama.E’$. 2020 À¶m H«$‘dmarV Vo

{Vgè¶m ñWmZmda Amho.
darbn¡H$s H$moUVr {dYmZo gË¶ AmhoV?
1) ’$º$ {dYmZ (c) gË¶ Amho 2) ’$º$ {dYmZ (d) gË¶ Amho
3) {dYmZo  (a) Am{U (b) gË¶ AmhoV 4) gd© {dYmZo gË¶ AmhoV

7) Consider following statements about 'Indian Institutes of Management's and choose correct

alternative from below.

a) IIM Rohatak is located in Punjab State.

b) In Maharashtra IIM is located in Mumbai

c) According to National Institutional Ranking Framework (NIRF) 2020 IIM Ahmadabad is having

First Rank.

d) IIM Lucknow established in 1986 and having Third Rank in NIRF, 2020 ranking

Which of the above statements are true?

1) Only statement (c) is true 2) Only statement (d) is true

3) Statements (a) and (b) are true 4) All statements are true

4) e¡j{UH$ g§ñWm d {dÚmnrR>o
1) ¶mo½¶ OmoS>çm Owidm …

         g§ñWm ñWmnZm df©
a) EZ.gr.B©.Ama.Q>r. i) 1956

b) EZ.Am¶.B©.nr.E. ii) 1945

c) ¶yOrgr iii) 1962

d) E.Am¶.gr.Q>r.B©. iv) 1995

e) EZ.gr.Q>r.B©. v) 1961

n¶m©¶r CÎmao …
(a) (b) (c) (d) (e)

1) (v) (iii) (i) (ii) (iv)

2) (i) (iii) (ii) (iv) (v)

3) (ii) (iii) (iv) (i) (v)

4) (iv) (v) (iii) (i) (ii)

1) Match the following :

Organisation Establishment Year

a) NCERT i) 1956

b) NIEPA ii) 1945

c) UGC iii) 1962

d) AICTE iv) 1995

e) NCTE v) 1961
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Answer Options :

(a) (b) (c) (d) (e)

1) (v) (iii) (i) (ii) (iv)

2) (i) (iii) (ii) (iv) (v)

3) (ii) (iii) (iv) (i) (v)

4) (iv) (v) (iii) (i) (ii)

2) OJm‘Ü¶o ‘wº$ {dÚmnrR>mMr ñWmnZm gd©àW‘ H$moUË¶m XoemV Pmcr ?
1) ¶w. Eg. E. 2) ¶w. Ho$. 3) ^maV 4) Am°ñQ´>o{c¶m

2) In which country was the first Open University in the world established ?

1)  USA 2)  UK 3)  India 4)  Australia

3) Imcrcn¡H$s H$moUË¶m gm§{d{YH$ g§ñWm AmhoV ?
a) Bco³eZ H${‘eZ Am°’$ B§{S>¶m b) ¶w{Zìh{g©Q>r J«m§Q>g H${‘eZ
c) Am°c B§{S>¶m H$m¡pÝgb ’$m°a Q>op³ZH$c EÁ¶wHo$eZ d) Z°eZc Agog‘|Q> A°ÊS> A°{H«${S>Q>oeZ H$m¡pÝgc
n¶m©¶r CÎmao :>
1) (a), (b) Am{U (c) ¶mo½¶ AmhoV 2) (b), (c) Am{U (d) ¶mo½¶ AmhoV
3) (b) Am{U (c) ¶mo½¶ AmhoV 4) (b) Am{U (d) ¶mo½¶ AmhoV

3) Which of the following are statutory bodies?

a) Election Commission of India

b) University Grants Commission

c) All India Council for Technical Education

d) National Assessment and Accreditation Council

Answer Options :

1) (a), (b) and (c) are correct 2) (b), (c) and (d) are correct

3) (b) and (c) are correct 4) (b) and (d) are correct

4) Z°eZb ¶w{Zìh{g©Q>r Am°’$ EÁ¶wHo$eZb ßb°qZJ A°ÊS> A°S>{‘{ZñQ´>oeZMr ñWmnZm ...... {d^mJmZo Ho$br.
1) ¶wdH$ Am{U {H«$S>m 2) ‘mZd g§gmYZ {dH$mg
3) {dÎm 4) {dkmZ Am{U V§ÌkmZ

4) National University of Educational Planning and Administration is established by ........  department.

1) Youth Affairs and Sports 2) Human Resource Development

3) Finance 4) Science and Technology

5) ga O‘eoX Q>mQ>m ¶m§Zr 1911 ‘Ü¶o ...... ñWmnZ Ho$bo.
1) ^maVr¶ {dkmZ g§ñWm, ~|Jbmoa 2) ~Zmag ‘hm{dÚmb¶, ~Zmag
3) A{^¶m§{ÌH$s Am{U V§Ì{dkmZ ‘hm{dÚmb¶, ~§Jmb 4) Amoìha{g¶g© à{ejU ñHy$b, nwUo

5) Sir Jamshed Tata established the in 1911.

1) Indian Institute of Science, Bangalore

2) College of Banaras, Banaras

3) College of Engineering and Technology, Bengal

4) School for the training of overseers, Pune
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6) nwT>rbn¡H$s H$moUVr e¡j{UH$ g§ñWm 2017 À¶m a±qH$J‘Ü¶o (JwUmZwH«$‘m‘Ü¶o) g§nyU© ^maVmV gdm}ËH¥$ï> Kmo{fV H$aÊ¶mV Ambr?
1) ~Zmag qhXÿ {dÚmnrR> 2) ^maVr¶ ì¶dñWmnZ g§ñWm, Ah‘Xm~mX
3) ^maVr¶ {dkmZ g§ñWm, ~|Jbmoa, H$Zm©Q>H$ 4) ^maVr¶ V§ÌkmZ g§ñWm, ‘Ðmg, Vm{‘iZmSy>

6) Which of the following education institute was declared the best in the overall India Ranking

2017?

1) Banaras Hindu University

2) Indian Institute of Management, Ahmadabad

3) Indian Institute of Science, Bangalore, Karnataka

4) Indian Institute of Technology, Madrass, Tamil Nadu

7) Imbrbn¡H$s H$moUË¶m amÁ¶m§‘Ü¶o "amÁ¶ ‘wº$ {dÚmnrR> (SOU)" Zmhr ?
a) Amo[agm, n§Om~, h[a¶mUm b) {~hma, Amgm‘, npíM‘ ~§Jmb
c) N>{ÎmgJS>, CÎmamI§S>, Amgm‘ d) amÁ¶ {ejU g§MmbZmb¶
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) (b) Am{U (c) ’$º$ 3) (a) Am{U (c) ’$º$ 4) darbn¡H$s EH$hr Zmhr

7) Which of the following states does not have ‘State Open University (SOU)’ ?

a) Odisha, Punjab, Haryana b)  Bihar, Assam, West Bengal

c) Chattisgarh, Uttarakhand, Assam d) Directorate of State Education

Answer options :

1) (a) only 2) (b)  and (c) only 3) (a) and (c) only 4) None of the above

5) amḯ>r¶ e¡j{UH$ g§emoYZ d à{ejU n[afX
1) Imcrcn¡H$s H$moUVr n[afX XoemVrc emim {ejUmMo {Z¶moOZ, nwñVHo$ àH$meZ Am{U ì¶dñWmnZ H$aVo ?

1) amï´>r¶ g§emoYZ g§ñWm 2) amï´>r¶ e¡j{UH$ g§emoYZ Am{U à{ejU n[afX
3) {dÚmnrR> AZwXmZ Am¶moJ 4) ^maVr¶ V§ÌkmZ n[afX

1) Which of the following council plans school education, book publication and management?

1) National Research Institution

2) National Council of Educational Research and Training

3) University Grants Commission

4) Indian Technological Council

2) Imcrcn¡H$s "amï´>r¶ e¡j{UH$ g§emoYZ d à{ejU n[afX" (NCERT) Mo CÔoe H$moUVo AmhoV?
a)$amï´>r¶ Aä¶mgH«$‘mMr A§‘c~OmdUr H$aUo. b)$àmW{‘H$ {ejUmMo gmd©{ÌH$sH$aU H$aUo.
c)$ì¶mdgm{¶H$ {ejUmMm àgma H$aUo. d)${ejH$-{ejUm‘Ü¶o gwYmaUm KS>dyZ AmUUo.
n¶m©¶r CÎmao :
1) (a) Am{U$ (d) 2) (b) Am{U$$(c) 3) (a),(c) Am{U (d)$ 4) darcn¡H$s gd©

2) Which of the following is/are objectives of the National Council of Educational Research and

Training (NCERT) ?

a) Implementing the National Curriculum. b) Universalization of Primary Education.

c) Promoting Vocational Education. d) Improving Teacher Education.

Answer Options :

1)  (a) and (d) 2)  (b) and (c) 3)  (a), (c) and (d) 4)  All of the above



Am¶wº$/A{YH$mar g‘mOH$ë¶mU ImVo narjm / 45

For Private Circulation Only

3) amï´>r¶ {ejU g§emoYZ d à{ejU n[afXoMo (NCERT) à‘wI H$m¶© åhUOo :
a) {eH${dÊ¶mÀ¶m {d{dY nÕVrda g§emoYZ H$aUo Am{U àJV V§ÌmMm dmna H$aUo.
b) {ejH$m§gmR>r àJV ñVamdarc godm nyd© d godm A§VJ©V à{ejU H$m¶©H«$‘ am~{dUo.
c) {d{dY emgH$s¶, {Z‘emgH$s¶ d ImOJr g§ñWm§Mm {dñVma H$aUo d godm nwa{dUo.
d) Cƒ {ejUmMr JwUdÎmm {dH${gV H$aUo d Ë¶mMm àgma gd© amÁ¶mV H$aUo.
darcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
1) (a),(b) Am{U (c) 2) (a) Am{U (b) 3) (b) Am{U (c) 4) (a),(b),(c) Am{U (d)

3) The main function of National Council of Educational Research and Training is to :

a) Do research on various teaching methods and use the advanced technique.

b) Implementing pre-service and in-service advanced training programs for teachers.

c) Extend and provide services to various government, semi-government and private institutions.

d) To develop the quality of higher education and promote it in all the states.

Which of the statement(s) given above is/are correct?

1) (a), (b) and (c) 2) (a) and (b) 3) (b) and (c) 4) (a), (b), (c) and (d)

4) Imbrbn¡H$s ho NCERT Mo g§d¡Ym{ZH$ KQ>H$ Zmhr.
1) Z°eZb BpÝñQ>Q>çyQ> Am°’$ EÁ¶wHo$eZ (NIE) Zdr {X„r
2) Z°eZb BpÝñQ>Q>çyQ> Am°’$ EÁ¶wHo$eZ (NIE) ‘w§~B©
3) n§{S>V gw§Xabmb e‘m© g|Q´>b BpÝñQ>Q>çyQ> Am°’$ ìhmoHo$eZb EÁ¶wHo$eZ (PSSCIVE) ^monmi
4) [aOZb BpÝñQ>Q>çyQ> Am°’$ EÁ¶wHo$eZ (RIE) AO‘oa

4) This is not a constituent unit of NCERT :

1) National Institute of Education (NIE) New Delhi

2) National Institute of Education (NIE) Mumbai

3) Pandit Sundarlal Sharma Central Institute of Vocational Education (PSSCNE) Bhopal

4) Regional Institute of Education (RIE) Ajmer

5) amï´>r¶ e¡j{UH$ g§emoYZ d à{ejU n[afX (NCERT) Mo H$m¶© :
a)$‘mZd g§gmYZ {dH$mg ‘§Ìmc¶mcm emco¶ {ejUm~m~V g„m XoUo.
b)$e¡j{UH$ dmMZ gm{hË¶ V¶ma H$aUo.
c)${ejH$m§Mo godm§VJ©V d godmnyd© à{ejU H$aUo.
n¶m©¶r CÎmao :
1) (a) Am{U (c)$ 2) (c) Am{U (b)$ $3) (b) Am{U (a)$ 4) gd© ~amo~a

5) Functions of the National Council of Educational Research and Training (NCERT) are :

a) To adviae the Ministry of Human RT8ource DeYelopment on school education.

b) Preparation of educational reading material.

c) Training of teachers in service and pre-service.

Answer Options :

1) (a) and (c) 2)  (c) and (b) 3)  (b) and (a) 4)  All are correct
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6) ^maV gaH$maÀ¶m {ejU ‘§Ìmc¶mÀ¶m nmR>~imZo amï´>r¶ {ejU g§emoYZ Am{U à{ejU n[afX (NCERT) ¶m§Zr gwé
Ho$coë¶m {S>{OQ>c CnH«$‘mMm dmna ¶mgmR>r Iwcm Ho$cm Amho.
a) {Zð>m b) gm¶~a gwajm Am{U gwa{jVVm
c) B©-nmR>emim d) ñd¶§à^m darc àM§S> Am°ZcmB©Z Iwco Aä¶mgH«$‘
n¶m©¶r CÎmao :
1)  a,b,c Am{U d 2)  ’$º$ c 3) ’$º$ a 4) Only b

3) Access and use of digital initiatives of NCERT under the aegis of MoE, Government of India are

open for

a) NISHTHA b) Cyber safety and security

c) e-Pathshala d) Massive online open courses on SWAYAM Prabha

Answer options :

1) a,b,c and d 2) Only c 3) Only a 4) Only b

4) amï´>r¶ {ejU g§emoYZ d à{ejU n[afXo g§X^m©V Imcrcn¡H$s H$moUVr {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
a) ^maVr¶ emco¶ {ejUmg AmYma XoUmar hr {eIa g§ñWm Amho.
b) amï´>r¶ Aä¶mgH«$‘mMr A§‘c~OmdUr H$aUo hm ¶m n[afXoMm CÔoe Amho.
c) ‘m{hVr V§ÌkmZ, ‘yë¶‘mnZm‘Ü¶o d narjm§‘Ü¶o gwYmaUm H$aUo.
n¶m©¶r CÎmao :
1) ’$º$ c 2) ’$º$ a 3) a Am{U b 4)  a, b Am{U c

4) Which of the following statement(s) regarding National Council of Education Research and

Training is/are correct ?

a) Itis an Apex organization supporting Indian school education.

b) The objective of this council is to implement National curriculum.

c) Improving information technology, assessments and examination.

Answer options :

1) Only c 2) Only a 3) a and b 4) a, b and c

6) ^maVr¶ d¥ÎmnÌ n[afX
1) ^maVr¶ d¥ÎmnÌ n[afXo~m~V Imbrb {dYmZo {dMmamV ¿¶m.

a) ̂ maVr¶ d¥ÎmnÌ n[afXoÀ¶m AÜ¶jmMr {ZdS> hr amÁ¶g ôMo AÜ¶j, bmoH$g ôMm g^mnVr Am{U n[afXoÀ¶m gXñ¶m§‘YyZ
{ZdS>bobr ì¶º$s ¶m§Mm g‘mdoe Agboë¶m g{‘Vr‘m’©$V hmoVo.

b) n[afXoÀ¶m AÜ¶jmMm Am{U gXñ¶m§Mm H$m¶©H$mi hm nmM dfmªMm AgVmo.
c) {Zd¥Îm Pmbobm gXñ¶ nwZZm©‘m§H$ZmgmR>r nmÌ ZgVmo.
darb {dYmZm§n¡H$s H$moUVo {dYmZ/Zo ~amo~a AmhoV?
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) (b) Am{U (c) 4) (a), (b) Am{U (c)

1) Consider the following statements about Press Council of India (PCI) :

a) The Chairman of the PCT is selected by a Committee consisting of the Rajya Sabha Chairman,

Lok Sabha Speaker and a person elected by the members of the Council from among themselves.

b) The term of the Chairman and the members of the Council is Five years.

c) A retiring member is not eligible for renomination.

Which of the statements given above is/are correct ?

1) Only (a) 2) Only (b) 3) (b) and (c) 4) (a), (b) and (c)
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7) cmc ~hmXÿa emór amḯ>r¶ àemgZ AH$mX‘r
1) Imcrcn¡H$s H$moUVo {dYmZ MwH$sMo Amho ?

1) cmc ~hmXÿa emór amï´>r¶ àemgZ AH$mX‘r, ‘gyar Ûmao Oo nm¶m ŷV Aä¶mgH«$‘ Am{U COiUr Aä¶mgH«$‘
Foundational courses and refresher courses Am¶mo{OV Ho$co OmVmV Vo ^maVr¶ àemgH$s¶ godoMo àdoenyd©
à{ejUmMo (pre-entry training) CXmhaU Amho.

2) Am¶H$a A{YH$mar AWdm dmhVyH$ nmocrg BÝñno³Q>aMo à{ejU ho "H$m¡eë¶ à{ejUmMo (skills training) CXmhaU
Amho".

3) nmíd©̂ y‘r àH$maÀ¶m à{ejUmÀ¶m H$m¶©H«$‘mMo C{Ôï> ho à{ejUmWvMm ‘mZ{gH$ {dH$mg ho AgVo, Ë¶mMo C{Ôï>
H$moUË¶mhr {d{eï> àH$maMo H$m¡eë¶ àXmZ H$aUo ho ZgVo.

4) darcn¡H$s H$moUVohr Zmhr
1) Which one of the following statements is not correct ?

1) Foundational courses and refresher courses organised by the Lal Bahadur Shastri National

Academy of Administration, Mussoorie are the example of pre-entry training for Indian

Administrative Services.

2) The training of the Income Tax Officers or Traffic Police Inspector’s are example of skills

training.

3) Background type of training programme aims at mental development of the trainee, its objective

is not to provide any particular skills as such.

4) None of the above

5) àemgH$s¶ H$m‘H$mO d {Z¶‘mdbr
1) H|$Ð ñVamdarb àemgZ
2) amÁ¶ ñVamdarb àemgZ
3) {Oëhm ñVamdarb àemgZ

1) Imbrbn¡H$s H$moUVo {dYmZ ¶mo½¶ Zmhr?
1) bm°S>© H$m°Z©dm°{bgbm ^maVmVrb ZmJar godoMm OZH$ Ago g§~moYbo OmVo.
2) bm°S>© dm°aZ hopñQ>¨½OZo ZmJar godoMm nm¶m KmVbm.
3) bm°S>© H$m°Z©dm°{bgZo ZmJar godoV gwYmaUm H$ê$Z Ë¶mg AmYw{ZH$ ~Z{dbo d VH©$ewÕ Ho$bo.
4) 1805 ‘Ü¶o bm°S>© {‘ÝQ>mo ¶mZo H$bH$Îmm ¶oWrb ’$moQ>© {dë¶‘ ¶oWo ZmJar godH$m§Zm à{ejU XoÊ¶mgmR>r ‘hm{dÚmb¶

ñWmnZ Ho$bo.
1) Which one of the following statements is not correct ?

1) Lord Cornwallis came to be known as the ‘Father of civil service’ in India.

2) Lord Warren Hastings laid the foundations of civil service.

3) Lord Cornwallis reformed, modernised and rationalised the civil service.

4) In 1805 Lord Minto established a college at Fort William in Calcutta to provide training to the

civil servants.

2) do~aÀ¶m ZmoH$aemhrÀ¶m ‘m°S>oc‘Ü¶o Imcrc H$moUVo KQ>H$ g‘m{dï> AmhoV ?
a) loUr~Õ aMZm b) H$m‘mMr {d^mJUr
c) H$m¶m©À¶m A§‘c~OmdUrgmR>r {c{IV {Z¶‘ d) cmoH$ {Z¶moOZmV gm‘m{OH$ ñVa
n¶m©¶r CÎmao :
1) (a), (b), (c)Am{U (d) 2) (b) Am{U (d) 3) (a) Am{U (c) 4) (a), (b) Am{U (c)
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2) Which of the following are elements of Weber’s model of Bureaucracy ?

a) Hierarchical structure b) Division of work

c) Written rules for execution of works d) Social level in people planning

Answer options :

1) (a), (b), (c) and (d) 2) (b) and (d) 3) (a) and (c) 4) (a), (b) and (c)

1) H|$Ð ñVamdarb àemgZ
1) ¶mo½¶ OmoS>çm Owidm.

(godm) (à{ejU H$mbmdYr)
a) IAS i) 24 ‘{hZo
b) IFS (Forest) ii) 36 ‘{hZo
c) IPS iii) 27 ‘{hZo
n¶m©¶r CÎmao …

(a) (b) (c)

1) (iii) (ii) (i)

2) (ii) (i) (iii)

3) (i) (iii) (ii)

4) (i) (ii) (iii)

1) Match the following :

(Services) (Training period)

a) IAS i) 24 months

b) IFS (Forest) ii) 36 months

c) IPS iii) 27 months

Answer Options :

(a) (b) (c)

1) (iii) (ii) (i)

2) (ii) (i) (iii)

3) (i) (iii) (ii)

4) (i) (ii) (iii)

2) n§VàYmZm§À¶m H$m¶m©c¶m~m~V (PMO) Imcrcn¡H$s H$moUVr {dYmZo gË¶ AmhoV ?
A) Vr ghmæ¶H$mar g§KQ>Zm (staff agency) Amho.
~) Vr EH$ {~Ja-g§{dYm{ZH$ g§ñWm Amho.
H$) Ë¶mÀ¶m A{YH$ma joÌmV H$mhr g§c½Z Am{U Xþæ¶‘ H$m¶m©c¶o AmhoV.
S>) JìhZ©a OZac (ì¶{º$JV) À¶m g{MdmÀ¶m OmJr OmZodmar 1950 ‘Ü¶o Vo ApñVËdmV Amco.
n¶m©¶r CÎmao :
1) A Am{U ~ 2) ~, H$ Am{U S> 3) A, ~ Am{U H$ 4) darcn¡H$ss gd©

2) Which of the following statements are true about Prime Minister’s Office (PMO) ?

A) Itisa staff agency.

B) It is an extra-constitutional body.

C) It has a few attached and subordinate offices under it.

D) It came into existence in January 1950 by replacing the Secretary to the Governor General

(Personal).

Answer options :

1) A and B 2) B, C and D 3) A, B and C 4) All of the above
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3) n§VàYmZ H$m¶m©b¶m~m~V ¶mo½¶ {dYmZm§Mr {ZdS> H$am.
a) A°bmoHo$eZ Am°’$ {~PZog ê$ëg, 1961 Zwgma nr E‘ Amo ^maV gaH$maÀ¶m EImÚm {d^mJmgmaIm XOm© Cn^moJVmo.
b) B.g. 1947 gmbr JìhZ©a OZab g{MdmÀ¶m OmJr n§VàYmZ H$m¶m©b¶ ApñVËdmV Ambo.
c) nydu nr E‘ Amo ho n§VàYmZm§Mo g{Mdmb¶ åhUyZ AmoiIbo Om¶Mo.
d) ZrVr Am¶moJmMo qWH$ Q>±H$ åhUyZ H$m¶© H$aVo.
n¶m©¶r CÎmao …
1) (a), (b) Am{U (d) {dYmZo ¶mo½¶ AmhoV. 2) (b), (c) Am{U (d) {dYmZo ¶mo½¶ AmhoV.
3) (a), (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV. 4) (a), (b), (c) Am{U (d) {dYmZo ¶mo½¶ AmhoV.

3) Select the correct statements about the Prime Minister’s Office (PMO) :

a) It enjoys the status of a department of the Government of India under Allocation of Business

Rules, 1961

b) PMO office came into existence in 1947 by replacing the secretary to the Governor-General

c) Earlier it was called as the Prime Minister's secretariat

d) It works as Think Tank of NITI Aayog

Answer Options :

1) (a), (b) and (d) statements are correct 2) (b), (c) and (d) statements are correct

3) (a), (b) and (c) statements are correct 4) (a), (b), (c) and (d) statements are correct

4) Imcrcn¡H$s H$moUË¶m H°${~ZoQ> g{‘VrÀ¶m AÜ¶jñWmZr n§VàYmZ AgVmV ?
A) amOH$s¶ ì¶dhma g{‘Vr ~) {dÎmr¶ ì¶dhma g{‘Vr
H$) g§gXr¶ ì¶dhma g{‘Vr S>) {Z¶wº$s g{‘Vr
n¶m©¶r CÎmao :
1) ’$º$ A, ~, H$ 2) ’$º$ A, ~, S> 3) ’$º$ H$, S> 4) darcn¡H$s gd©

4) Which of the following Cabinet Committees are chaired by the Prime Minister ?

A) Political Affairs Committee B) Economic Affairs Committee

C) Parliamentary Affairs Committee D) Appointments Committee

Answer options :

1) Only A, B, C 2) Only A, B, D 3) Only C, D 4) All of the above

5) ¶mo½¶ H$WZo AmoiIm.
A) ^maVr¶ g§{dYmZmÀ¶m AZwÀN>oX 76 ‘Ü¶o A°Q>Zu OZacÀ¶m {Z¶wº$s~m~V VaVyX Amho.
~) A°Q>Zu OZaccm ^maVr¶ gr‘mjoÌmVrc gd© Ý¶m¶mc¶m§‘Ü¶o EoHy$Z KoÊ¶mMm A{YH$ma àmá Amho.
H$) AZwÀN>oX 88 Zwgma A°Q>Zu OZaccm g§gXoÀ¶m H$moUË¶mhr g^mJ¥hmV ~mocÊ¶mMm A{YH$ma Amho na§Vw ‘VXmZmMm

A{YH$ma àmá Zmhr.
n¶m©¶r CÎmao :
1) ’$º$ A, ~ 2) ’$º$ ~, H$ 3) ’$º$ A, H$ 4) darcn¡H$s gd©

5) Select the correct statements.

A) Article 76 of the Indian Constitution is about the appointment of Attorney General.

B) Attorney General has a right of audience in all Courts in the territory of India.

C) Under Article 88, Attorney General has right to speak but not to vote in either House of

Parliament.

Answer options :

1) Only A, B 2) Only B, C 3) Only A, C 4) All of the above
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6) H|$Ðr¶ godm loUr II (JQ>-~) ~m~VrV Imbrbn¡H$s H$moUmbm {eñV §̂JmMr H$m¶©dmhr H$aÊ¶mMm A{YH$ma Amho?
1) H|$Ðr¶ bmoH$godm Am¶moJ (UPSC) AÜ¶j 2) g§~§{YV ‘§Ìmb¶mMo g{Md
3) amï´>nVr 4) g§~§{YV ‘§Ìmb¶mMo ‘§Ìr

6) In respect of Central Services Class II (Group-B) who is the disciplinary authority ?

1) UPSC chairman 2) Secretary of the Concerned Ministry

3) President 4) Minister of the Concerned Ministry

7) A{Ic ^maVr¶ godoVrc godH$m§Mr {Zð>m hr .............. ¶m§À¶mV Xþ̂ §Jcr OmVo.
1) g§K cmoH$godm Am¶moJ Am{U H|$Ð emgZ 2) H|$Ð Am{U ‘w»¶ g{Md
3) H|$Ð Am{U amÁ¶o 4) g§gX Am{U H|$Ð

7) The loyalties of All India Services employee are divided between the

1) Union Public Service Commission and Union Govt. 2) Union and Chief Secretary

3) Union and States 4) Parliament and Union

2) amÁ¶ ñVamdarb àemgZ
1) nwT>rcn¡H$s H$moUVo ¶eXmMo C{ÔîQ>ç Zmhr ?

1) amÁ¶ gaH$maÀ¶m Am{W©H$ Am{U gm‘m{OH$ {H«$¶mH$cmnmÀ¶m {dH$mgmgmR>r EH$ à‘wI gmYZ åhUyZ AmYw{ZH$
ì¶dñWmnZ {dkmZmMm àgma H$aUo.

2) ì¶dñWmnZ {dkmZmÀ¶m dmnam‘Ü¶o ì¶º$s, g§KQ>Zm Am{U g§ñWmZm àmoËgmhZ XoUo, ‘XV H$aUo Am{U Ë¶mMo g‘W©Z
H$aUo.

3) {dH$mg Am{U cmoH$ àemZm‘Ü¶o g„mJma godm àXmZ H$aUo.
4)  ‘mZdr g§gmYZmg§~§YrMr ‘m{hVr g§H${cV H$aUmar gdm}ÀM g§ñWm åhUyZ godm àXmZ H$aUo.

1) Which of the following is not the objective of Yashada ?

1) To promote modern management science as a major instrument for development of economic

and social activities of the State Government

2) To foster, assist and support individuals, organisations and institution in the use of management

science

3) To provide consultancy services in development and public administration

4) To serve as the apex institute for the collection of information regarding human resources

2) Imcrc {dYmZo {dMmamV ¿¶m.
A) ‘w»¶ g{Md ¶m nXmMm CJ‘ {~«{Q>e amOdQ>rV H|$Ð gaH$ma‘Ü¶o Pmcm. ¶m nXmMr {Z{‘©Vr 1787 ‘Ü¶o dm°aoZ hoñQ>t½O

¶m§Zr Ho$cr.
~) ‘w»¶ g{Md hm amÁ¶mÀ¶m ‘w»¶‘§Ìr Am{U amÁ¶nmc ¶m§Mm àYmZ g„mJma åhUyZ H$m¶© H$aVmo.
H$) ‘w»¶ g{Md ho amÁ¶mÀ¶m àemgZmVrc gdm©V Á¶oð> Ho$S>a nX AgyZ Vo ̂ maVmÀ¶m AJ«H«$‘ Vm{cHo$‘Ü¶o 21 ì¶m ñWmZr

AmhoV.
S>) ‘w»¶ g{MdmMo nX ho ìhmB©g Mr’$ Am°’$ ñQ>m’$/H$‘m§S>g© ¶m§À¶m ~amo~arZo Amho.
darcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV ?
n¶m©¶r CÎmao :
1) ’$º$ "A' 2) A, ~ Am{U H$ 3) Ho$di  S> 4) H$ Am{U S>
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2) Consider the following statements :

A) The office of a Chief Secretary had its origin in the Central Government during the British

rule. It was created in 1787 by Warren Hastings.

B) The Chief Secretary acts as the principal advisor to the Chief Minister and Governor of State.

C) The Chief Secretary is the senior-most cadre post in the State Administration, ranking 21 on

the Indian order of precedence.

D) The post of the Chief Secretary is equivalent to Vice Chief of the Army Staff/Commanders.

Which of the statements given above is/are correct ?

1) A only 2) A, B and C 3) D only 4) C and D

3) amÁ¶mÀ¶m ‘w»¶ g{Mdmg§~§Yr Imbrbn¡H$s H$moUVo {dYmZ AgË¶ Amho?
1) Ë¶m§Mo A{YH$ma Am{U H$m¶©o H°${~ZoQ> g{Mdmnojm Iyn A{YH$ AgVmV.
2) amï´>nVr emgZ (amOdQ>) AmUë¶mZo Ë¶m§À¶m amÁ¶ àemgZmVrb pñWVr‘Ü¶o, (position) nXm‘Ü¶o n[aUm‘ hmoV

Zmhr.
3) Ë¶m§À¶mer VwbZm H$aVm ¶oB©b Agm H|$Ð gaH$ma‘Ü¶o A{YH$ma Zmhr.
4) darbn¡H$s EH$hr Zmhr

3) Which of the following statements about Chief Secretary of state is not true ?

1) His powers and functions are much more than that of the Cabinet Secretary.

2) His position in the state administration is not affected by the imposition of President's Rule.

3) He has no parallel functionary in the Central Government.

4) None of the above

4) "‘hm{Ydº$m" ¶m g§~§Yr Imcrc {dYmZo {dMmamV ¿¶m.
A) ‘hm{Ydº$m d Ë¶m§Mo H$m¶m©c¶ ho amÁ¶emgZmÀ¶m {hVg§~§YmMm ~Mmd d g§ajU H$aVo Am{U amÁ¶emgZmg Amncr

YmoaUo R>a{dÊ¶mV Am{U Ë¶mMr A§‘c~OmdUr H$aÊ¶m~m~V ‘m¡ë¶dmZ Ago H$m¶Xoera ‘mJ©XeZ H$aVo.
~) ‘hm{Ydº$m hm ’$m¡OXmar IQ>ë¶mVrc Amamonr ì¶{º$Mm ~Mmd amÁ¶emgZmÀ¶m nadmJZr{edm¶ H$é eH$V Zmhr.
n¶m©¶r CÎmao :
1) {dYmZ A ~amo~a 2) {dYmZ ~ ~amo~a
3) XmoÝhr {dYmZo ~amo~a 4) XmoÝhrhr {dYmZo MyH$sMr

4) Consider the following statements about ‘Advocate General’.

A) The Advocate General and his office defends and protect the interest of the State Government

and gives valuable legal guidance to the State Government in formulation of its policy and its

execution.

B) The Advocate General can not defend the accused person in criminal prosecution without the

permission of the State Government.

Answer options :

1) Statement ‘A’ is correct 2) Statement ‘B’ is correct

3) Both the statements are correct 4) Both the statements are false
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3) {Oëhm ñVamdarb àemgZ
1) nwT>rb {dYmZmn¡H$s H$moUVo ¶mo½¶ Zmhr?

a) {Oëhm{YH$mè¶mMo H$m¶m©b¶ 1773 ‘Ü¶o {Z‘m©U Am{U g‘má Ho$bo Jobo Am{U nwÝhm Vo 1786 ‘Ü¶o nwZñWm©{nV Ho$bo
Jobo.

b) Cn{Oëhm{YH$mar Am{U CnX§S>m{YH$mar nXmMr {Z{‘©Vr 1843 gmbr Ho$br Jobr.
c) gm¶‘ZZo eº$sembr {Oëhm{YH$mè¶mbm 1930 gmbr g‘W©Z {Xbo ZìhVo.
n¶m©¶r CÎmao …
1) Ho$di (a) 2) Ho$di (b) 3) Ho$di (c) 4) EH$hr Zmhr

1) Which one of the following statements is not correct ?

a) The office of collector was created and abolished in 1773 and recreated in 1786.

b) Deputy collector and deputy magistrate were created in 1843.

c) Simon did not support a strong collector in 1930.

Answer Options :

1) Only (a) 2) Only (b) 3) Only (c) 4) Neither

2) {Oëhm{YH$mar hm amÁ¶emgZmÀ¶m H$moUË¶m {d^mJmMm KQ>H$ Amho?
a) ‘hgyb b) J¥h c) J«m‘rU {dH$mg d) gm‘mÝ¶ àemgZ
n¶m©¶r CÎmao …
1) (a) Am{U (b) n¶m©¶ ¶mo½¶ AmhoV. 2) (c)  Am{U (d) n¶m©¶ ¶mo½¶ AmhoV.
3) Ho$db (a) hm n¶m©¶ ¶mo½¶ Amho. 4) Ho$di (d) hm n¶m©¶ ¶mo½¶ Amho.

2) The District collector belongs to which department (s) of state government ?

a) Revenue b) Home

c) Rural Development d) General Administration

Answer Options :

1) (a) and (b) alternatives are correct 2) (c) and (d) alternatives are correct

3) Only (a) alternative is correct 4) Only (d) alternative is correct

3) ñdmV§Í¶ àmárZ§VaÀ¶m H$mimV Imcrcn¡H$s H$moUVo  KQ>H$ {Oëhm{YH$mè¶m§À¶m à{Vð>oV Am{U A{YH$mamV KQ> hmoÊ¶mg
H$maUr ŷV Pmco AmhoV?
A) emgZmÀ¶m YmoaU Am{U C{Ôï>m§‘Ü¶o Pmcoco ~Xc. ~) n§Mm¶V amÁ¶mMm CX¶
H$) AmKmS>r emgZmMm CX¶ S>) Ý¶m¶ì¶dñWoMo H$m¶©H$mar {d^mJmnmgyZ AcJ hmoUo
B) cmoH$m§‘Ü¶o  amOH$s¶ OmUrdo‘Ü¶o Pmcocr dmT>
n¶m©¶r CÎmao :
1) A, ~ Am{U H$ 2) ~, H$ Am{U S> 3) A, ~, S> Am{U B 4) darc gd©

3) Which of the following factors are responsible for the decline of the District Collector’s prestige

and authority in the post-independence period ?

A) Change in the ends and objectives of Govt. B) Emergence of Panchayat Raj

C) Emergence of Coalition Government D) Separation of judiciary from the executive

E) Increasing political consciousness among people

Answer options :

1) A, B and C 2) B, C and D 3) A, B, D and E 4) All of the above
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4) {Oëhm{YH$mar ¶m§Mo A{YH$ma d H$m¶} ¶m ~m~VrV MwH$sMo {dYmZ AmoiIm.
1) Vo {Oëhm OZJUZm A{YH$mar AgVmV
2) Vo g§gXr¶ ‘VXmag§KmgmR>r {ZdS>UyH$ A{YH$mar AgVmV.
3) Vo g§H$Q>H$mcrZ AmnÎmr ì¶dñWmnZmMo à‘wI AgVmV
4) Amdí¶H$ VgoM AZmdí¶H$ dñVy§Mm ZmJar nwadR>m gw{ZpíMV  H$aUo hr Ë¶m§Mr O~m~Xmar AgVo.

4) State the wrong statements with regard to the powers and functions of the District Collector.

1) He acts as a district census officer

2) He acts as the returning officer for the election to Parliamentary Constituency

3) He acts as a chief of disaster management during crisis.

4) He is responsible for ensuring the civil supply of essential and non-essential commodities

5) ‘hmamï´>mVrb '{Oëhm {Z¶moOZ g{‘Vr' g§X^m©Vrb Imbrbn¡H$s H$moUVo {dYmZ/Zo {~ZMyH$ Amho/V?
a) ¶m g{‘VrV {H$‘mZ 40 Am{U H$‘mb 75 gXñ¶ AgVmV.
b) amÁ¶ emgZmH$Sy>Z 5 gXñ¶ Zm‘{ZX}{eV Ho$bo OmVmV.
c) {Oëhm{YH$mar, {Oëhm n[afXoMo AÜ¶j d ‘w»¶ H$m¶©H$mar A{YH$mar Am{U {OëømV amhUmao g§gX gXñ¶ d {dYmZ

g^m gXñ¶ ho nX{gÕ gXñ¶ AgVmV.
n¶m©¶r CÎmao …
1) (a) ’$º$ 2) darb gd© 3) (b) Am{U (c) 4) darbn¡H$s EH$hr Zmhr

5) Which of the following statements regarding ‘District Planning Committee’ in Maharashtra is/

are correct ?

a) It comprises at least 40 and maximum 75 members.

b) 5 members are nominated by the state government

c) District Collector, Chairman and Chief Executive officer of Z.P. and MPs and MLAs residing

in the district are the ex-officio members.

Answer Options :

1) (a) only 2) All above 3) (b) and (c) 4) None of the above

6) Imbrbn¡H$s H$moUVo {dYmZ ¶mo½¶ Zmhr?
1) bm°S>© H$m°Z©dm°{bgbm ^maVmVrb ZmJar godoMm OZH$ Ago g§~moYbo OmVo.
2) bm°S>© dm°aZ hopñQ>¨½OZo ZmJar godoMm nm¶m KmVbm.
3) bm°S>© H$m°Z©dm°{bgZo ZmJar godoV gwYmaUm H$ê$Z Ë¶mg AmYw{ZH$ ~Z{dbo d VH©$ewÕ Ho$bo.
4) 1805 ‘Ü¶o bm°S>© {‘ÝQ>mo ¶mZo H$bH$Îmm ¶oWrb ’$moQ>© {dë¶‘ ¶oWo ZmJar godH$m§Zm à{ejU XoÊ¶mgmR>r ‘hm{dÚmb¶

ñWmnZ Ho$bo.
6) Which one of the following statements is not correct ?

1) Lord Cornwallis came to be known as the ‘Father of civil service’ in India.

2) Lord Warren Hastings laid the foundations of civil service.

3) Lord Cornwallis reformed, modernised and rationalised the civil service.

4) In 1805 Lord Minto established a college at Fort William in Calcutta to provide training to the

civil servants.
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7) nwT>rb {dYmZmn¡H$s H$moUVo ¶mo½¶ Zmhr?
a) {Oëhm{YH$mè¶mMo H$m¶m©b¶ 1773 ‘Ü¶o {Z‘m©U Am{U g‘má Ho$bo Jobo Am{U nwÝhm Vo 1786 ‘Ü¶o nwZñWm©{nV Ho$bo

Jobo.
b) Cn{Oëhm{YH$mar Am{U CnX§S>m{YH$mar nXmMr {Z{‘©Vr 1843 gmbr Ho$br Jobr.
c) gm¶‘ZZo eº$sembr {Oëhm{YH$mè¶mbm 1930 gmbr g‘W©Z {Xbo ZìhVo.
n¶m©¶r CÎmao …

1) Ho$di (a) 2) Ho$di (b) 3) Ho$di (c) 4) EH$hr Zmhr
7) Which one of the following statements is not correct ?

a) The office of collector was created and abolished in 1773 and recreated in 1786.

b) Deputy collector and deputy magistrate were created in 1843.

c) Simon did not support a strong collector in 1930.

Answer Options :

1) Only (a) 2) Only (b) 3) Only (c) 4) Neither

8) {Oëhm àemgZm§VJ©V H$m¶©aV {d{dY {d^mJm§À¶m {d^mJà‘wImg§X^m©V Imbrbn¡H$s H$moUVr {dYmZo ¶mo½¶ AmhoV?
a) {OëømVrb {d^mJm§Mo {d^mJà‘wI gm‘mÝ¶ VÁk AgVmV.
b) {d^mJmÀ¶m AmYmamda amÁ¶nmVirdarb gm‘mÝ¶ godm Ho$S>aMr {Z{‘©Vr Ho$br OmVo.
c) {d^mJà‘wI ho g§~§{YV amÁ¶ {d^mJmÀ¶m {Z¶§ÌU d n¶©dojUmImbr H$m¶} H$aVmV.
d) {Oëhm{YH$mar hm {Oëhm nmVirdarb {d{dY {d^mJm§À¶m {d^mJà‘wIm§À¶m H$m¶m©Mo g‘Ýd¶ d n¶©dojU H$aVmo.
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) {dYmZo ¶mo½¶ AmhoV. 2) (b), (c) Am{U (d) {dYmZo ¶mo½¶ AmhoV.
3) (a) Am{U (b) {dYmZo ¶mo½¶ AmhoV. 4) (c) Am{U (d) {dYmZo ¶mo½¶ AmhoV.

8) Which of the following statements are correct about the heads of district departments under

District Administration ?

a) The heads of district departments are generalist

b) They are borne on the cadres of generalized state services created on departmental line

c) They work under the supervision and control of their respective heads of state departments

d) The District collector supervises and coordinate the work of heads of district departments

Answer Options :

1) (a), (b) and (c) statements are correct 2) (b), (c) and (d) statements are correct

3) (a) and (b) statements are correct 4) (c) and (d) statements are correct

9) ‘moJb H$mimV {OëømMm à‘wI hmoVm/hmoVo …
a) H$amoar ’$m¡OXma b) gŵ oXma c) A‘bJwOma d) amOwH$m
n¶m©¶r CÎmao …
1) (a) Am{U (b) n¶m©¶ ¶mo½¶ AmhoV. 2) (c) Am{U (d) n¶m©¶ ¶mo½¶ AmhoV.
3) Ho$di (a) hm n¶m©¶ ¶mo½¶ Amho. 4) Ho$di (b) hm n¶m©¶ ¶mo½¶ Amho.

9) In the Mughal period, the head of the district was/were :

a) Karori Faujdar b) Subhedar c) Amulguzar d) Rajuka

Answer Options :

1) (a) and (b) alternatives are correct 2) (c) and (d) alternatives are correct

3) Only (a) alternative is correct 4) Only (b) alternative is correct
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6) àemgH$s¶ gwYmaUm
1) ^maVmVrb cmoH$ àemgZ d àemgH$s¶ g§ñWm
2) àemgH$s¶ gwYmaUm Am¶moJ
3) bmoH$nmb Am[U bmoH$m¶wº$
4) gwàemgZ d B©-emgZ

1) ^maVmVrb cmoH$ àemgZ d àemgH$s¶ g§ñWm
1) ............. amoOr ^maVmV ZmJar godm {XZ gmOam Ho$cm OmVmo.

1) 21 OyZ 2) 10 ‘mM© 3) 10 E{àc 4) 21 E{àc
1) Civil Service Day is celebrated in India on ______

1) 21 June 2) 10 March 3) 10 April 4) 21 April

2) Imcrcn¡H$s H$moU "X A°S>{‘{ZñQ´>oQ>a" ¶m ZmdmZo Ì¡‘m{gH$ OZ©c H$mT>Vo ?
1) cmc ~hmXÿa emór àemgZ à~mo{YZr
2) gaXma d„^^mB© nQ>oc amï´>r¶ nmo{cg à~mo{YZr
3) ¶eXm
4) ^maVr¶ cmoH$ àemgZ g§ñWm

2) Which one of the following brings out a quarterly journal known as "The Administrator’ ?

1) Lal Bahadur Shastri Academy of Administration

2) Sardar Vallabhbhai Patel National Police Academy

3) YASHADA

4) Indian Institute of Public Administration

3) "^maVr¶ cmoH$ àemgZ g§ñWo" g§X^m©V Imcrcn¡H$s H$moUVr {dYmZo gË¶ AmhoV ?
A) nm°c EM. A°nc~r ¶m§À¶m {e’$maerZwgma hr g§ñWm 1954 ‘Ü¶o Zdr {X„r ¶oWo ñWmnÊ¶mV Amcr.
~) hr g§ñWm nyU©V: emgH$s¶ Amho.
H$) hr g§ñWm Ho$di H|$Ð emgZm‘Yrc A{YH$mè¶m§gmR>r COiUr Aä¶mgH«$‘ (Refresher courses)  Am¶mo{OV H$aVo.
S>) hr g§ñWm {dÚmnrR>mVrc AÜ¶mnH$m§gmR>r "cmoH$ àemgZ" {df¶mdarc AënmdYrÀ¶m Aä¶mgH«$‘mMo XoIrc Am¶moOZ

H$aVo.
n¶m©¶r CÎmao :
1) darc gd© 2) A Am{U S> 3) ~ Am{U H$ 4) A, ~ Am{U S>

3) Which of the following statements regarding ‘Indian Institute of Public Administration’ are true?

A) It was setup in New Delhi in 1954 on the recommendation of Paul H. Appleby.

B) It is fully governmental body.

C) It organised refresher courses only for the officers of central government.

D) It also organised short-term courses for university teachers in "Public Administration’.

Answer options :

1) All of the above 2) A and D 3) B and C 4) A, B and D
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4) Imcrcn¡H$s H$moUVo {dYmZ MyH$sMo Amho?
1) ‘oH$m°co g{‘VrÀ¶m AhdmcmZo ^maVr¶ ZmJar godogmR>r ..... VÎdkmZ Am{U nm¶m KmVcm Amho.
2) ‘oH$m°co g{‘VrÀ¶m AhdmcmÀ¶m AmYmao ^maVr¶ ZmJar godogmR>r n{hcr ñnYm© B§½c§S>‘Ü¶o 16 Owc¡ 1855 amoOr

KoÊ¶mV Amcr.
3) 1899 ‘Ü¶o ^maVr¶ A{^¶m§{ÌH$s godm, ^maVr¶ new d¡ÚH$ godm Am{U ^maVr¶ d¡ÚH$ godm ñWmnÊ¶mV Amë¶m.
4) darcn¡H$s H$moUVohr Zmhr

4) Which one of the following statements is false ?

1) The Macaulay Committee report provided the philosophy and base for Indian Civil Service

(ICS).

2) Onthe basis of Macaulay Committee report the first competitive examination for Indian Civil

Service (ICS) was held on 16 July 1855 in England.

3) The Indian Service of Engineers, the Indian Veterinary service and the Indian Medical Service

were constituted in 1899.

4) None of the above

5) Imcrcn¡H$s H$moUVo {dYmZ/{dYmZo MwH$sMo Amho/AmhoV ?
A) 1793 ‘Ü¶o cm°S>© H$m°Z©dm{cgÛmao cmoH$ (ZmJar) godm§Mr nwZa©MZm Ho$cr Jocr.
~) cm°S>© docñcrÛmao 1806 ‘Ü¶o H${Zð> A{YH$mè¶m§gmR>r ZmoH$arnyduÀ¶m H$mimVrc à{ejU XoÊ¶mgmR>r H$cH$Îmm ¶oWo

hoco~ar ‘hm{dÚmc¶ (Haileybury College)  ñWmnZ H$aÊ¶mV Amco.
H$) 1853 ‘Ü¶o B©ñQ> B§{S>¶m H§$nZrZo ^maVmVrc H$ama~Õ ZmJar godoMo AJXrM AmJiodoJio Ago d¡{eîQ>ç pñdH$maco.
S>) ^maVr¶ ZmJar godm A{Y{Z¶‘, 1861 "^maVr¶ ZmJar godm" Zm‘H$aUmg d¡Ym{ZH$ ‘mÝ¶Vm {Xcr Jocr.
n¶m©¶r CÎmao :
1) A, ~ Am{U H$ 2) Ho$di ~ 3) H$ Am{U S> 4) darcn¡H$s H$moUVohr Zmhr

5) Which one of the following statement/s is/are incorrect ?

A) In 1798 reorganisation of public services was made by Lord Cornwallis.

B) In 1806 Haileybury College was established in Kolkata by Lord Wellesley to give pre-service

training to junior officers.

C) In 1853, the East India Company accepted the most distinctive feature of the covenanted civil

service in India.

D) The nomenclature ‘Indian Civil Service’ was given statutory recognition by the Indian Civil

Service Act of 1861.

Answer options :

1) A, B and C 2) B Only 3) C and D 4) None of the above

6) Imbrbn¡H$s ¶mo½¶ H$WZo AmoiIm.
a) Zmoìh|~a, 2019 ‘Ü¶o àog BÝ’$m°‘}eZ ã ỳamo ‘§Ìmb¶mÀ¶m A§VJ©V VÏ¶ VnmgUr ¶w{ZQ>Mr ñWmnZm H$aÊ¶mV Ambr.
b) Bbo³Q´>m°{ZH$ {‘{S>¶mgmR>r, gd© Q>rìhr M°ZoëgZo Ho$~b Q>o{bpìhOZ ZoQ>dH©$ ({Z¶‘Z) H$m¶Xm, 1995 Mo nmbZ H$aUo

Amdí¶H$ Amho.
c) {S>{OQ>b ~mVå¶m§gmR>r, gaH$maZo ’o$~«wdmar 2021 ‘Ü¶o ‘m{hVr V§ÌkmZ (‘Ü¶dVu ‘mJ©Xe©H$ VÎdo Am{U {S>{OQ>b

{‘{S>`m AmMmag§{hVm) {Z¶‘ A{Ygy{MV Ho$bo AmhoV.
n¶m©¶r CÎmao …
1) ’$º$ (a), (b) 2) ’$º$ (b), (c) 3) ’$º$ (a), (c) 4) darbn¡H$s gd©
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6) Select the correct statements from the following -

a) A Fact Check Unit has been setup under the Press Information Bureau of the ministry in

November, 2019.

b) For electronic media (Television), all TV channels are required to adhere to the programme

code under the Cable Television Networks (Regulation) Act, 1995.

c) For digital news the government has notified the Information Technology (Intermediary

Guidelines and Digital Media Ethics Code) Rules in February 2021.

Answer Options :

1) Only (a), (b) 2) Only (b), (c) 3) Only (a), (c) 4) All of the above

7) Imcrc {dYmZo {dMmamV ¿¶m :
A) ‘ycV: ZmJar godoMo H$ama~Õ ZmJar godm (Cƒ ZmJar godm) Am{U AH$ama~Õ (H${Zð> ZmJar godm) Ago dJuH$aU

Ho$co Joco.
~) ^maVr¶ H$ama~Õ godm hr ^maVr¶ ZmJar godm (ICS) åhUyZ Zmdménmg Amcr.
H$) A°Q²>{H$gZ Am¶moJmZo Amnë¶m AhdmcmV Aer {e’$mag Ho$cr hmoVr H$s, H$ama~Õ Am{U Vgo Zgcoco Aer ZmJar

godm§Mr {ÛñVar¶ nÕV ~§X H$éZ Ë¶mÀ¶m OmJr gm‘«mpÁ¶H$, àm§{VH$ Am{U Xþæ¶‘ ZmJar godm Aer {ÌñVar¶ nÕV
gwé Ho$cr Omdr.

n¶m©¶r CÎmao …
1) {dYmZ "A" ~amo~a, "~" Am{U "H$" MyH$sMr
2) {dYmZ "~ ~amo~a, "A" Am{U "H$" MyH$sMr
3) {dYmZ "H$"  ~amo~a, "A" Am{U "~"  MyH$sMr
4) gd© {dYmZo ~amo~a

7) Consider the following statements :

A) Originally the civil service classified as covenanted and un-covenanted service.

B) The Indian covenanted service got designated as the Indian Civil Service (ICS).

C) Aitchison Commission recommended in its report that the two-tier classification of civil

services into covenanted and un-covenanted should be replaced by a three-tier classification

viz. imperial, provincial and subordinate.

Answer options :

1) Statement ‘A’ is correct, ‘B’ and ‘C’ are false

2) Statement ‘B’ is correct, ‘A’ and ‘C’ are false

3) Statement ‘C’ is correct, ‘A’ and ‘B’ are false

4) All statements are correct

2) àemgH$s¶ gwYmaUm Am¶moJ
1) Imcrc OmoS>çm§da {dMma H$am.

a) codo{cZ pñ‘W g{‘Vr - 1920 b) ìhrca g{‘Vr - 1919
c) ‘°³gdoc g{‘Vr - 1930 d) Q>moQ>Zh°‘ g{‘Vr - 1945
{~«{Q>e H$mimV g{Mdmc¶ ì¶dñWoÀ¶m g§X^m©V darcn¡H$s H$moUË¶m OmoS>çm ~amo~a AmhoV?
1) a Am{U d 2) b, c Am{U d 3) a, c Am{U d 4) a, b, c Am{U d
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1) Consider the following pairs.

a) Llewellyn Smith Committee — 1920 b) Wheeler Committee — 1919

c) Maxwell Committee — 1930 d) Tottenham Committee — 1945

Which of the pairs given above are correct related to secretariat system during British period ?

1) a and d 2) b, c and d 3) a, c and d 4) a, b, c and d

2) Imcrcn¡H$s H$moUË¶m g{‘VrZo godm à{ejU H$m¶©H«$‘mV ‘moR>çm ~Xcm§Mr {e’$mag Ho$cr Amho Omo AmVm ‘Ü¶-H$[aAa
à{ejU H$m¶©H«$‘ åhUyZ {Xcm OmV Amho ?
1) {H$aU AJ«dmc g{‘Vr 2) dm¶. Ho$.AcK g{‘Vr
3) Ama. ìhr. ìhr. Aæ¶a g{‘Vr 4) gwa§oÐZmW g{‘Vr

2) Which of the following Committee recommended major changes in the in-service training

programme which is now being imparted as mid-career training programme ?

1) Kiran Aggarwal Committee 2) Y. K. Alagh Committee

3) R. V. V. Ayyar Committee 4) Surindranath Committee

3) Imcrc {dYmZo {dMmamV ¿¶m.
A) 1966 ‘Ü¶o ñWmnZ H$aÊ¶mV Amcoë¶m àemgH$s¶ gwYmaUm Am¶moJmZo (ARC) H|$ÐmV cmoH$nmc Am{U amÁ¶m§‘Ü¶o

cmoH$m¶wº$ Aer {ÛñVar¶ ¶§ÌUm ñWmnZ H$aÊ¶mMr {e’$mag Ho$cr hmoVr.
~) E‘. gr. N>Jcm ho 1966 ‘Ü¶o ñWmnZ H$aÊ¶mV Amcoë¶m àemgH$s¶ gwYmaUm Am¶moJmMo (ARC) AÜ¶j hmoVo.
darcn¡H$s H$moUVo {dYmZ/Zo ~amo~a Amho/AmhoV ?
1) ’$º$ "A' 2) ’$º$ ~ 3) A Am{U ~ XmoÝhr 4) A Am{U ~ XmoÝhrhr ZmhrV

3) Consider the following statements.

A) The Administrative Reforms Commission (ARC) set up in 1966 recommended the constitution

of a two-tier machinery of a Lokpal at the Centre and Lokayuktas in the States.

B) M.C. Chagla was the Chairman of the Administrative Reforms Commission (ARC) set up in

1966.

Which of the above statement/s is/are correct ?

1) Only A 2) Only B 3) Both A and B 4) Neither A nor B

4) Xþgè¶m àemgH$s¶ gwYmaUm Am¶moJm~m~V Imcrcn¡H$s H$moUVo {dYmZ ~amo~a Amho ?
1) Am¶moJmZo H$m¶m©c¶rZ Jwá H$m¶Xm, 1923 aÔ H$amdm Aer {e’$mag Ho$cr Amho.
2) Am¶moJmZo geó ~c {deof A{YH$ma H$m¶Xm, 1958 aÔ H$amdm Aer e’$mag Ho$cr Amho.
3) Am¶moJmZo ñWm{ZH$ joÌ {dH$mgmgmR>r g§gX gXñ¶ Am{U {dYr‘§S>i gXñ¶m§Zm XoÊ¶mV ¶oUmè¶m {ZYrMr ¶moOZm aÔ

H$amdr  Aer {e’$mag Ho$cr Amho.
4) darc gd©

4) Which one of the following statements about Second Administrative Reforms Commission is

correct ?

1) The Commission has recommended repeal of the Official Secrets Act, 1923.

2) The Commission has recommended repeal of the Armed Forces Special Powers Act (AFSPA),

1958.

3) The Commission has recommended abolition of schemes under which MPs and MLAs are

allocated funds for their local area development.

4) All of the above
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3) bmoH$nmb Am[U bmoH$m¶wº$
1) bmoH$nmb Am[U bmoH$m¶wº$ H$m¶Xm 2013 À¶m Imbrbn¡H$s H$moUË¶m H$b‘m§VJ©V bmoH$nmbm§À¶m n¶©dojr A{YH$mam§Mr MMm©

Ho$br Amho?
1) H$b‘ 25 2) H$b‘ 20 3) H$b‘ 21 4) H$b‘ 19

1) Supervisory powers of Lokpal are laid down under which of the following section of Lokpal and

Lokayukta’s Act. 2013 ?

1) S. 25 2) S. 20 3) S. 21 4) S. 19

2) bmoH$nmb g§ñWoÀ¶m ‘¶m©Xm H$m¶ AmhoV?
a) 2013 À¶m H$m¶ÚmZo pìhgb ãbmoAgªZm R>mog Aer à{VH$maeº$s àXmZ Ho$bobr Zmhr.
b) bmoH$nmbbm H$moUVohr KQ>ZmË‘H$ nmR>~i {Xbo OmV Zmhr.
c) bmoH$nmb amOH$s¶ à^mdmnmgyZ ‘wº$ Zmhr H$maU {Z¶wº$s g{‘Vr‘Ü¶oM amOH$s¶ njm§Mo gXñ¶ AgVmV.
d) àmW{‘H$ Mm¡H$er Xaå¶mZ Zm|Xr (aoH$m°S>©) Zï> hmoD$ Z¶oV ¶mgmR>r {ZX}e XoÊ¶mMm A{YH$ma bmoH$nmbmg Zmhr.
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) (b), (c) Am{U (d) 3) (c) Am{U (d) 4) darb gd©

2) What are the limitations of Lokpal institution ?

a) The 2013 act did not provide concrete immunity to the whistle blowers.

b) The Lokpal is not given any constitutional backing.

c) Lokpal is not free from political influence as the appointing committee itself consist of

members from political parties.

d) Lokpal has no power to give directions to prevent the destruction of records during the

preliminary inquiry.

Which of the statements given above are correct ?

1) (a), (b) and (c) 2) (b), (c) and (d) 3) (c) and (d) 4) All above

3) "cmoH$nmc" (Am°‘~wS>g²‘Z) g§~§Yr Imcrc {dYmZo {dMmamV ¿¶m.
A) Ý¶y{Pc§S> hm amï´>Hw$c amï´>m§‘Yrc cmoH$nmc (Am°‘~wS>g²‘Z) Zo‘Umam n{hcm Xoe Amho.
~) ^maVmV cmoH$nmc Am{U Ë¶mVrc gXñ¶m§Mm H$m¶©H$mi 5 df©o qH$dm d¶mÀ¶m 65 dfmªn¶ªV Amho.
H$) cmoH$nmc ‘Yrc Ý¶m{¶H$ gXñ¶ hm gdm©oƒ Ý¶m¶mc¶mMm ‘mOr Ý¶m¶mYre AWdm Cƒ Ý¶m¶mc¶mMm ‘mOr ‘w»¶

Ý¶m¶mYre Agmdm.
darcn¡H$s H$moUVo {dYmZ/Zo ~amo~a Amho/V ?
1) Ho$di ~ 2) ~ Am{U H$ 3) A d H$ XmoÝhr 4) darcn¡H$s gd©

3) Consider the following statements about ‘Lokpal’ (Ombudsman).

A) New Zealand is the first Commonwealth country to adopt Ombudsman.

B) In India, the term of office for Lokpal and members is 5 years or till the age of 65 years.

C) The judicial member of the Lokpal is either a former Judge of the Supreme Court or a former

Chief Justice of a High Court.

Which of the statements given above is/are correct ?

1) Only B 2) B and C 3) A and C 4) All of the above
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4) ‘hmamï´> cmoH$m¶wº$ {dYo¶H$ - 2022 g§~§Yr Imcrc {dYmZo {dMmamV ¿¶m :
A) Vo {dYmZg ôV {S>g|~a - 2022 ‘Ü¶o ‘m§S>Ê¶mV Amco.
~) Ë¶mZo ‘hmamï´> cmoH$m¶wº$ Am{U CncmoH$m¶wº$ A{Y{Z¶‘, 1972 ~Xccm.
H$) {ZdS> g{‘VrÀ¶m {e’$maerdéZ cmoH$m¶wº$mMo AÜ¶j d gXñ¶ ¶m§Mr Zo‘UyH$ amÁ¶nmcm§Ûmao Ho$cr OmB©c.
S>) {ZdS> g{‘Vr‘Ü¶o VrZ ì¶qº$Mm g‘mdoe Agoc, Ë¶m åhUOo ‘w»¶‘§µÌr Am{U {dYmZg ôMm g^mnVr Am{U

{dYmZg ôVrc {damoYr nj ZoVm.
darcn¡H$s H$moUVr {dYmZo/Zo ~amo~a Amho/V ?
1) Ho$di H$ 2) Ho$di A, ~ Am{U S> 3) Ho$di ~, H$ Am{U S> 4) Ho$di A Am{U H$

4) Consider the following statements regarding Maharashtra Lokayukta Bill — 2022 : A.B.

A) It was introduced in the Legislative Assembly in December, 2022.

B) It repeals the Maharashtra Lokayukta and Upa-Lokayukta Act, 1972.

C) The Chairperson and Members of Lokayukta will be appointed by the Governor on the

recommendations of a selection committee.

D) The selection committee consists of 3 persons i.e. Chief Minister, Speaker of Legislative

Assembly and Opposition Leader of the Legislative Assembly.

Which of the statements given above is/are correct ?

1) Only C 2) Only A, B and D 3) Only B, C and D 4) Only A and C

5) ‘hmamï´>mMo bmoH$m¶wº$ Am{U Cn-bmoH$m¶wº$ ¶m§À¶m g§X^m©V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Zmhr?
1) bmoH$m¶wº$ Am{U Cn-bmoH$m¶wº$ ¶m§Mm H$m¶©H$mi VrZ dfmªMm AgVmo.
2) Ý¶m¶‘yVu Eg. nr. H$moVdmb ho n{hbo bmoH$m¶wº$ hmoVo.
3) lr. g§O¶ ^m{Q>¶m ho Cn-bmoH$m¶wº$ åhUyZ 28.8.2020 nmgyZ H$m¶©aV AmhoV.
4) gÜ¶m AH$amdo bmoH$m¶wº$ H$m¶©aV Amho.

5) Which one of the following statements is not correct about the Lokayukta a and Upa- Lokayukta

of Maharashtra ?

1) Lokayukta and Upa-Lokayukta hold office for a term of three years.

2) Justice S. P. Kotval was the first Lokayukta.

3) Shri. Sanjay Bhatia is working as Upa-Lokayukta since 28.8.2020.

4) Eleventh Lokayukta is working at present.

6) H|$Ðr¶ OmJê$H$Vm {ZarjH$m~Ôb Imbrbn¡H$s MwH$sMo H$WZ AmoiIm.
1) {ZdS>UyH$ Am¶moJmZo 16 ì¶m bmoH$g ôV (2014) gd©àW‘ H|$Ðr¶ OmJê$H$Vm {ZarjH$ {Z¶wº$ Ho$bo.
2) H|$Ðr¶ OmJê$H$Vm {ZarjH$ cmoH$à{V{Z{YËd H$m¶Xm, 1951 À¶m àgma ‘mÜ¶‘m§er g§~§{YV {d{dY n¡by§Mo {ZarjU

H$aVmV.
3) H|$Ðr¶ OmJê$H$Vm {ZarjU {ZdS>H$ g§doXZerb ‘VXmZ H|$Ðmdarb {ZdS>UyH$ à{H$¶oMo {Xdg^a {ZarjU H$aVmV.
4) H|$Ðr¶ OmJê$H$Vm {ZarjH$ H$m¶©joÌ ñVamda {ZdS>UyH$ à{H«$¶oÀ¶m H$m¶©j‘ d à^mdr ì¶dñWmnZmMo {ZarjU H$aVmV.

6) Select the incorrect statement from the following about Central Awareness Observers (CAO) -

1) Election Commission deployed Central Awareness Observers firstly in the 16th Lok Sabha

Elections (2014).

2) CAO monitors the various media related aspects of People Representative Act, 1951,

3) CAO observe the poll proceedings on the poll day in selected critical polling stations.

4) CAO observe the efficient and effective management of the electoral process at the field

level.
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4) gwàemgZ d B©-emgZ
1) gwàemgZmg‘moarc AS>Wio H$moUVo ?

A) OZVo‘Yrc Am¡XmgrÝ¶ ~) gZXr godH$m§À¶m ‘mZ{gH$VoMr g‘ñ¶m
H$) CÎmaXm{¶ËdmMm A^md S>) ZmJ[aH$m§Zm Amnë¶m A{YH$mam§Mr Am{U H$V©ì¶m§Mr H$‘r OmUrd AgUo
n¶m©¶r CÎmao :
1) A, ~ Am{U H$ 2) ~, H$ Am{U S> 3) A, ~, H$ Am{U S> 4) ~ Am{U S>

1) What are the barriers to Good Governance ?

A) Apathy of people B) Attitudinal problem of the civil servants

C) Lack of accountability D) Low levels of awareness of the rights and duties of citizens

Answer options :

1) A, B and C 2) B, C and D 3) A, B, C and D 4) B and D

2) B©-emgZ åhUOo ‘SMART’ emgZmH$S>o dmQ>Mmb H$aUo hmo¶. ¶m‘Ü¶o ‘R ¶mMm AW© ......
1) {Z¶m‘H$ (Regulative) 2) àm{V{ZYrH$ (Representative)
3) à{V{H«$¶mË‘H$ (Reactive ) 4) à{VgmXmË‘H$ (Responsive)

2) E-Governance is basically a move towards ‘SMART’ governance. In which ‘R’ stands for

1) Regulative 2) Representative 3) Reactive 4) Responsive

3) B©-emgZ àUmcr‘Ü¶o ho g‘m{dï> Amho.
a) H$‘r IM©, H$m¶©j‘Vm Am{U godm§Mr JwUdÎmm b) ZmJ[aH$ Am{U emgZ ¶m§À¶mVrc A{YH$ à^mdr g§~§Y
c) OmUrdnyd©H$ g‘Ýd¶ d) nmaXe©H$Vm Am{U CÎmaXm{¶Ëd ¶m§Mr gw{dYm
n¶m©¶r CÎmao :
1) (a), (b) Am{U (c) 2) (a), (b) Am{U (d) 3) (a)  Am{U (b) 4) (a), (b), (c) Am{U (d)

3) E-government system include

a) Lower costs, efficiency and quality of services

b) More effective linkages between citizens and government

c) Deliberate coordination

d) Facilitated transparency and accountability

Answer options :

1) (a), (b) and (c) 2) (a), (b) and (d) 3) (a) and (b) 4) (a), (b), (c) and (d)

4) Imcrc {dYmZo {dMmamV ¿¶m :
a) B©-l‘ ho gm‘m{OH$ gwajm ¶moOZm ^maVmVrc Ag§K{Q>V joÌmVrc H$m‘Jmamn¶ªV nmohmoM{dÊ¶mg MmcZm XoÊ¶mgmR>r

V¶ma H$aÊ¶mV Amcoë¶m nmoQ>©cMo Zmd Amho.
b) B© l‘ 16 - 59 d¶moJQ>mgmR>r Amho.
darcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/V ?
1) ’$º$ (a) ~amo~a Amho 2) ’$º$ (b) ~amo~a Amho
3) XmoÝhr (a) (b) Am{U ~amo~a AmhoV 4) darcn¡H$s H$moUVohr Zmhr
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4) Consider the following statements :

a) eSHRAM is a name of the portal launched to facilitate delivery of social security schemes to

the unorganised sector workers in India.

b) eSHRAM is for age group between 16-59 years.

Which of the statement/s given above is/are correct ?

1) Only (a) is correct 2) Only (b) is correct

3) Both (a) and (b) are correct 4) None of the above

7) Ý¶m¶m{YH$aU, Am¶moJ d g{‘Ë¶m
1) e¡j§{UH$ Am¶moJ d g{‘Ë¶m
2) {dÚmnrR> AZwXmZ Am¶moJ
3) amḯ>r¶ kmZ Am¶moJ

1) ‘hmX¶r Ob {ddmX Ý¶m¶m{YH$aU (2010) ‘Ü¶o Imbrbn¡H$s H$moUË¶m amÁ¶m§Mm g‘mdoe Amho?
a) Jmodm b) H$Zm©Q>H$ c) ‘Ü¶ àXoe
d) Am§Y« àXoe e) ‘hmamï´>
n¶m©¶r CÎmao …
1) ’$º$ (a), (c), (e) 2) ’$º$ (c), (d), (e) 3) ’$º$ (a), (b), (d) 4) ’$º$ (a), (b), (e)

1) Which of the following states are involved in Mahadayi Water Dispute Tribunal (2010) ?

a) Goa b) Karnataka c) Madhya Pradesh

d) Andhra Pradesh e) Maharashtra

Answer Options :

1) Only (a), (c), (e) 2) Only (c), (d), (e) 3) Only (a), (b), (d) 4) Only (a), (b), (e)

2) Imbrbn¡H$s H$moUVo {dYmZ/{dYmZo ¶mo½¶ Amho/AmhoV?
a) àW‘ amï´>r¶ l‘ Am¶moJmMr (EZgrEb) ñWmnZm 24 {S>g|~a 1966 amoOr Pmbr.
b) Ý¶m¶‘yVu nr. ~r. JO|ÐJS>H$a ho àW‘ amï´>r¶ l‘ Am¶moJmMo AÜ¶j hmoVo.
c) Xþgam amï´>r¶ l‘ Am¶moJ (EZgrEb) 15 Am°³Q>mo~a 1999 amoOr ñWmnZ H$aÊ¶mV Ambm.
d) adtÐ d‘m© ho Xþgè¶m amï´>r¶ l‘ Am¶moJmMo AÜ¶j hmoVo.
n¶m©¶r CÎmao …
1) (a), (c) {dYmZo ¶mo½¶ AmhoV. 2) (a), (b) {dYmZo ¶mo½¶ AmhoV.
3) (b), (c) {dYmZo ¶mo½¶ AmhoV. 4) darbn¡H$s gd© {dYmZo ¶mo½¶ AmhoV.

2) Which of the following statement/s is/are correct ?

a) The First National Commission on Labour (NCL) was set-up on 24th December 1966.

b) Justice P.B. Gajendragadkar was the Chairman of the First National Commission on Labour.

c) The Second National Commission on Labour (NCL) was set-up on 15th October 1999.

d) Ravindra Varma was the Chairman of the Second National Commission on Labour.

Answer Options :

1) (a), (c) statements are correct 2) (a), (b) statements are correct

3) (b), (c) statements are correct 4) All of the above statements are correct
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1) e¡j§{UH$ Am¶moJ d g{‘Ë¶m
1) Imcrcn¡H$s H$moUVo/H$moUVr {dYmZo MwH$sMo Amho/AmhoV ?

a)$S>m°. amYmH¥$îUZ Am¶moJ hm {dÚmnrR> {ejU Am¶moJ åhUyZ AmoiIcm OmVmo. (1948-49)
b)$‘wXcr¶ma Am¶moJ hm ‘mÜ¶{‘H$ {ejU Am¶moJ åhUyZ AmoiIcm OmVmo. (1952-53)
c)$H$moR>mar Am¶moJ hm ^maVr¶ {ejU Am¶moJ åhUyZ AmoiIcm OmVmo. (1964-66)
d)$amï´>r¶ kmZ Am¶moJ hm g°‘ {nÌmoXm ¶m§À¶m AÜ¶jVoImcr 2005 ‘Ü¶o ñWmnZ H$aÊ¶mV Amcm hmoVm.
n¶m©¶r CÎmao :
1)  ’$º$ (d) 2) (b) Am{U (d) 3) darcn¡H$s gd© 4) darcn¡H$s Zmhr

1) Which of the following statement(s) isfare incorrect ?

a) The Dr. Radhakrishnan Commission is known as The University Education Commission (1948

— 49).

b) The Mudaliar Commission is knowa as the Secondary Education Commission  (1952 — 53).

c) The Kothari Commission is known as the Education Commission of India (1964 - 66).

d) The National Knowledge Commission was established in 2005 under the Chairmanship of

Sam Pitroda.

Answer Options :

1) Only (d) 2) (b) and (d) 3) All of the above 4) None of the above

2) {dÚmnrR> {ejU Am¶moJ 1948 Zwgma -
a) ~wÕrMm {dH$mg H$ê$Z Z¡g{J©H$ OrdZ OJÊ¶mMr OÝ‘OmV j‘Vm OmJ¥V H$aUo.
b) bmoH$emhrgmR>r à{ejU XoUo.
c) gm‘m{OH$ ì¶dñWoÀ¶m C{Ôï>m§‘Ü¶o e¡j{UH$ ì¶dñWoZo Ë¶mMo ‘mJ©Xe©H$ VÎd emoYbo nm{hOo.
d) Cƒ {ejUmV Ym{‘©H$ Jmoï>tZm ñWmZ Zgmdo.
n¶m©¶r CÎmao …
1) (a), (b) Am{U (d) ~amo~a 2) (b), (c) Am{U (d) ~amo~a
3) (a), (b) Am{U (c) ~amo~a 4) (a), (c) Am{U (d) ~amo~a

2) According to University Education Commission 1948.

a) To Awaken the inborn ability to live the natural life by developing wisdom.

b) Training for Democracy.

c) Education system must find its guiding principle in the aims of the social order.

d) There should not be place for religious things in higher education.

Answer Options :

1) (a), (b) and (d) are correct 2) (b), (c) and (d) are correct

3) (a), (b) and (c) are correct 4) (a), (c) and (d) are correct

3) ¶enmb g{‘VrZo (1993) H$moUË¶m {e’$maer Ho$ë¶m hmoË¶m?
a) {ejH$ {dÚmWu JwUmoÎma {H$‘mZ 1 … 30 n¶ªV H$‘r Ho$bo nm{hOo.
b) Bbo³Q´>m°{ZH$ ‘mÜ¶‘m§Mm dmna
c) emiH$ar ‘wbm§Zm OS> nwñVHo$ emioV ZoÊ¶mMr gº$s Zgmdr.
d) {ejU AmZ§XXm¶r Agbo nm{hOo.
n¶m©¶r CÎmao …
1) (a), (b) Am{U (d) ~amo~a AmhoV 2) (a), (b) Am{U (c) ~amo~a AmhoV
3) (b), (c) Am{U (d) ~amo~a AmhoV 4) (a), (b), (c) Am{U (d) ~amo~a AmhoV
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3) What were the recommendation made by the Yeshpal Committee (1993) ?

a) The teacher Pupil ratio should be reduced to at least 1: 30

b) Use of electronic media

c) There should be no compulsion for schoo] children to carry heavy bags to school

d) Education should be joyful

Answer Options :

1) (a), (b) and (d) are correct 2) (a), (b) and (c) are correct

3) (b), (c) and (d) are correct 4) (a), (b), (c) and (d) are correct

2) {dÚmnrR> AZwXmZ Am¶moJ
1) {dÚmnrR> AZwXmZ Am¶moJ H$m¶Xm, 1956 À¶m H$moUË¶m àH$aUmV Ë¶mÀ¶m H$m¶m©Mo g{dñVa dU©Z Ho$co  Amho ?

1) àH$aU - I 2) àH$aU - II 3) àH$aU - III 4) àH$aU - IV

1) Which section of The university Grants Commission Act, 1956 describe the functions of UGC?

1) Section - I 2) Section - II 3) Section - III 4) Section - IV

2) a) {dÚmnrR> AZwXmZ Am¶moJmMr ñWmnZm 1953 ‘Ü¶o Pmbr.
b) A{Ib ^maVr¶ V§Ì{ejU n[afXoMr ñWmnZm 1945 ‘Ü¶o Pmbr.
c) amï´>r¶ ‘yë¶m§H$Z Am{U à‘mUZ n[afXoMr ñWmnZm 1995 ‘Ü¶o Pmbr.
darbn¡H$s H$moUVo {dYmZ/{dYmZo MwH$sMo Amho/AmhoV?
1) ’$º$ (b) 2) ’$º$ (c) 3) (b) Am{U (c) 4) darbn¡H$s gd©

2) a) The University Grants Commission was established in 1953.

b) The All India Council For Technical education was established in 1945.

c) The National Assessment and Accreditation Council was established in 1995.

Which of the statement(s) given above is/are incorrect?

1) Only (b) 2) Only (c) 3) (b) and (c) 4) All of the above

3) {dÚmnrR> AZwXmZ Am¶moJmZo godm§VJ©V ‘hm{dÚmc¶rZ {ejH$m§À¶m JwUdÎmmdmT>rgmR>r ............ gwé Ho$co AmhoV.
1) narjm
2)  àmXo{eH$ {ejU ‘hm{dÚmc¶o
3) H|$Ðr` {dÚmnrR>o
4) A°Ho$S>°{‘H$ ñQ>m’$ H$m°coOog/‘mZdr {dH$mg g§gmYZ H|$Ðo (HRDC)

3) UGC has started ............ for enharieement of quality of in-service collegeteachers

1) NETexams

2) Regional colleges

3) Central universities

4) Academic staff collegea/Human Resource Development Centres (HRDC)

3) amḯ>r¶ kmZ Am¶moJ
1) amï´>r¶ kmZ Am¶moJmMr ñWmnZm 13 OyZ 2005 amoOr ........... À¶m AÜ¶jVoImbr H$aÊ¶mV Ambr.

1) ‘mOr n§VàYmZ S>m°. ‘Z‘mohZ qgJ 2) S>m°. AéU {ZJdoH$a
3) S>m°. H$moR>mar gr.Eg. 4) g°‘ {nÌmoXm
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1) Establishment of National Knowledge Commission is on 13th June 2005 under the Chairmanship

of ........

1) Ex. Prime Minister Dr. Manmohan Singh 2) Dr. Arun Nigavekar

3) Dr. Kothari C.S. 4) Sam Pitroda

2) amï´>r¶ kmZ Am¶moJmÀ¶m g§X^m©V Imcrcn¡H$s H$moUVr {dYmZo ~amo~a Amho/AmhoV ?
a) n{hë¶m amï´>r¶ kmZ Am¶moJm§Mr ñWmnZm 2005 ‘Ü¶o Pmcr.
b) S>m°. g°‘ {nÌmoXm ¶m§À¶m AÜ¶jVoImcr n{hcm amï´>r¶ kmZ Am¶moJ ñWmnZ H$aÊ¶mV Amcm.
c) Xþgam amï´>r¶ kmZ Am¶moJ S>m°. AéU {ZJdoH$a ¶m§À¶m AÜ¶jVoImcr ñWmnZ H$aÊ¶mV Amcm.
n¶m©¶r CÎmao :
1) ’$º$  a 2) ’$º$ b 3) a Am{U b 4) ’$º$ c

2) Which of the following statement(s) regarding National Knowledge Commission is/are correct?

a) The first National Knowledge Commission was established in 2005.

b)The first National Knowledge Commission was established under the chairmanship of Dr. Sam

Pitroda.

c) The Second National Knowledge Commission was established under the Chairmanship of Dr.

Arun Nigvekar.

Answer options :

1) Only a 2) Only b 3) a and b 4) Only c

3) 2005 ‘Ü¶o g°‘ {nÌmoXm ¶m§À¶m AÜ¶jVoImbr ñWmnZ Pmboë¶m amï´>r¶ kmZ Am¶moJmZo H$moUË¶m à‘wI {ZH$fmda bj
H|${ÐV Ho$bo?
a) {dZm AZwXm{ZV g§ñWm§Zm AZwXmZ ‘§Oya H$aUo.
b) {dkmZ Am{U Am¡Úmo{JH$aUmÀ¶m à¶moJemim§Mm {dH$mg H$aUo.
c) ~m¡{ÕH$ g§nXoÀ¶m g§X^m©V OmoS>boë¶m g§ñWmV g§KQ>ZmË‘H$ gwYmaUm H$aUo.
d) eoVr Am{U CÚmoJm§À¶m {dH$mgmgmR>r kmZmMm dmna H$aUo.
e) OZVobm A{YH$ bm^ nmohmoM{dÊ`mgmR>r àMma Am{U àgma H$aUo.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV?
1) (a), (b) Am{U (d) 2) (a), (b) Am{U (c) 3) (b), (c), (d) Am{U (e) 4) darb gd©

3) Which of the following criteria was focused on by the National Knowledge Commission under

the Presidentship of Sam Pitroda in 2005 ?

a) To sanction the grant of non-aided institutes.

b) To develop the science and industrial laboratories.

c) To improve in institutional organization with regards to intellectual riches.

d) To use knowledge for agriculture and industrial development.

e) To provide maximum benefits to the people by publicity and spread.

Which of the above statement (b) is/are correct ?

1) (a), (b) and (d) 2) (a), (b) and (c) 3) (b), (c), (d) and (e) 4) All above

4) amï´>r¶ kmZ Am¶moJmZo (2009) kmZ àmê$nmÀ`m ............ à‘wI joÌm§da cj H|${ÐV Ho$co Amho.
A) kmZmg àdoe ~) kmZmMr {Z{‘©Vr H$) kmZmMr Cnm¶¶moOZm S>) kmZmMm {dñVma
n¶m©¶r CÎmao :
1) ’$º$ A, ~, S> 2) ’$º$ A, H$, S> 3) ’$º$ A, ~, H$ 4) darcn¡H$s gd©
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4) The National Knowledge Commission (2009) have focussed on key areas of knowledge paradigm

are

A) Access to knowledge B) Knowledge creation

C) Knowledge application D) Knowledge extension

Answer options :

1) Only A, B, D 2) Only A, C, D 3) Only A, B, C 4) All of the above

5) amï´>r¶ kmZ Am¶moJmMr nmM bjUr¶ joÌo ......
1) kmZ gwb^Vm, kmZ g§H$ënZm, kmZ {Z{‘©Vr, kmZ Cn¶moOZ, godm {dVaU
2) kmZ g§H$ënZm, kmZ {Z{‘©Vr, kmZ Cn¶moOZ, J«§Wmb¶ {dH$mg, godm {dVaU
3) kmZ gwb^Vm, kmZ g§H$ënZm, kmZ {Z{‘©Vr, kmZ Cn¶moOZ, g§emoYZ
4) kmZ g§H$ënZm, embo¶ {ejU, kmZ gwb^Vm, kmZ Cn¶moOZ, godm {dVaU

5) Remarkable five fields of National Knowledge Commission are

1) Knowledge accessibility, Knowledge concept, Knowledge creation, Knowledge application,

Service distribution.

2) Knowledge concept, Knowledge creation, Knowledge application, Development of library,

Service distribution.

3) Knowledge accessibility, Knowledge concept, Knowledge creation, Knowledge application,

Research.

4) Knowledge concept, School education, Knowledge accessibility, Knowledge application,

Service distribution.

6) Cƒ {ejUmVrb amï´>r¶ kmZ Am¶moJmZo ...... da ^a {Xbobm Amho.
a) {dñVma b) CËH¥$ð>Vm c) g‘mdoeH$Vm d) amï´>r¶ {dÚmnrR>
n¶m©¶r CÎmao …
1) (a) 2) (a) Am{U (b) 3) (d) 4) gd©(a),(b),(c) Am{U (d)

6) In Higher Education National Knowledge Commission has focused on ......

a) Expansion b) Excellence c) Inclusion d) National universities

Answer Options :

1) (a) 2) (a) and (b) 3) (d) 4) All (a),(b),(c) and (d)

7) ^maV XoemÀ¶m {dH$mgmV ‘hÎdnyU© O~m~Xmar AgUmè¶m {~ZemgH$s¶ g§ñWm§gmR>r ZrVr Am¶moJmZo CnbãY Ho$boë¶m
nmoQ>©bMo Zmd H$m¶?
1) EZ.Or.Amo. - Xn©U 2) EZ.Or.Amo. - Am°ZbmB©Z
3) EZ.Or.Amo. - AnS>oQ> 4) EZ.Or.Amo. - S>oìhbn‘|Q>

7) What is the name of portal made available by NITI Ayog to the Non-Governmental Organisations

which are playing important role in the development of India ?

1) NGO - DARPAN 2) NGO - ONLINE

3) NGO - UPDATE 4) NGO - DEVELOPMENT
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CÎmao … (2) g_mOH$ë¶mU  àemgZ - YmoaUo, emgH$s¶ d AemgH$s¶

g§KQ>Zm§Mo H$m¶©H«$‘ d godm

1) gm‘m{OH$ Ý¶m¶ d g_mOH$ë¶mU  ImVo
1-4 2-1 3-4

2) emgH$s¶ gm‘m{OH$ YmoaUo

1) gmd©O{ZH$ YmoaU {Z{‘©Vr
1-2 2-3 3-2 4-1 5-4 6-1 7-4 8-3 9-1 10-1
11-3

2) bmoH$g§»¶m {df¶H$ YmoaU
1-3 2-3 3-1 4-4 5-4 6-3 7-4

3) Am¡Úmo{JH$ YmoaU
1-4 2-3 3-4

4) dmhZ d dmhVyH$ YmoaU
1-4 2-2 3-1 4-2

5) nwZd©gZ YmoaU
1-3 2-1

6) ‘{hbm d ~mcH$m§gmR>rMo amḯ>r¶ YmoaU
1-2

7) e¡j{UH$ YmoaU

1-1 2-1 3-1 4-2 5-2 6-2 7-2 8-3 8-1 10-2
11-4 12-3 13-3 14-3 15-2 16-3 17-3 18-3 19-3 20-3
21-3
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8) ¶wdH$ YmoaU
1-3 2-3 3-2 4-2 5-4 6-4

3) Am§Vaamḯ>r¶ ñVamdarb ¶§ÌUm d YmoaUo
1-4 2-2 3-3

4) emgH$s¶ d AemgH$s¶ g§KQ>Zm§Mo H$m¶©H«$‘ d godm
1-2 2-3 3-3 4-1

1) amḯ>r¶ ‘yë¶m§H$Z Am{U A{YñdrH¥$Vr n[afXoH$Sy>Z (Z°H$)
1-2 2-2

2) amḯ>r¶ {ejH$ {ejU n[afX
1-4

3) A{Ic ^maVr¶ V§Ì {ejU n[afX
1-1 2-3 3-4 4-4 5-1 6-4 7-1

4) e¡j{UH$ g§ñWm d {dÚmnrR>o
1-1 2-2 3-3 4-2 5-1 6-3 7-4

5) amḯ>r¶ e¡j{UH$ g§emoYZ d à{ejU n[afX
1-2 2-4 3-1 4-2 5-4 6-1 4-4

6) ^maVr¶ d¥ÎmnÌ n[afX
1-1

7) cmc ~hmXÿa emór amḯ>r¶ àemgZ AH$mX‘r
1-1
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5) àemgH$s¶ H$m‘H$mO d {Z¶‘mdbr
1-4 2-1

1) H|$Ð ñVamdarb àemgZ
1-4 2-1 3-3 4-2 5-4 6-3 7-3

2) amÁ¶ ñVamdarb àemgZ
1-4 2-3 3-2 4-3

3) {Oëhm ñVamdarb àemgZ
1-3 2-4 3-3 4-4 5-4 6-4 7-3 8-4 9-3

6) àemgH$s¶ gwYmaUm

1) ^maVmVrb cmoH$ àemgZ d àemgH$s¶ g§ñWm
1-4 2-1 3-2 4-3 5-2 6-4 7-4

2) àemgH$s¶ gwYmaUm Am¶moJ
1-1 2-2 3-1 4-4

3) bmoH$nmb Am[U bmoH$m¶wº$
1-1 2-1 3-3 4-4 5-1 6-3

4) gwàemgZ d B©-emgZ
1-2 2-4 3-2 4-3

7) Ý¶m¶m{YH$aU, Am¶moJ d g{‘Ë¶m
1-4 2-4

1) e¡j§{UH$ Am¶moJ d g{‘Ë¶m
1-4 2-3 3-4
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2) {dÚmnrR> AZwXmZ Am¶moJ
1-3 2-2 3-4

3) amḯ>r¶ kmZ Am¶moJ
1-4 2-3 3-3 4-3 5-1 6-4 7-1


